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MONTHLY TEST – NOVEMBER, 2023 
 

1. Find the Incorrect Pair: 
1. Kalpa Vedanga   -  Rituals  
2. Vyakarna Vedanga  -  Grammar 
3. Nirukta Vedanga  -  Astrology  
a. 1 only Incorrect      b. 2 only Incorrect    
c. 3 only Incorrect     d. None of these are Incorrect 
e. Answer not known 
jtwhd ,iziaf; fz;lwpf. 
A. fy;g Ntjhq;fk;  -   Nts;tp tpsf;fq;fs; 

B. tpahfuz Ntjhq;fk;  -   ,yf;fzk; 
 C. epUj;j Ntjhq;fk;  -   Nrhjplk; 

 a. 1 kl;Lk; jtW.   b. 2 kl;Lk; jtW   
c. 3 kl;Lk; jtW   d. Nkw;fz;l vJTk; jtwpy;iy 

e. tpil njhpatpy;iy 
 

2. Match the following: 
A. Hinayana   1. Worshiped images of Buddha 
B. Mahayana   2. Wear white clothing 
C. Digambaras   3. Did not worship idols or images of Buddha 
D. Svetambara   4. Do not wear any clothing 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 3 1 4 2  
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf. 
A. `Pdahdk;    1. Gj;jhpd; cUtq;fis tzq;fpdhh; 
B. k`hahdk;    2. nts;isepw Milfis mzpth; 

C. jpfk;guh; 3. Gj;jhpd; rpiyfisNah cUtg; glq;fisNah 
tzq;f khl;lhh;fs; 

D. RNtjhk;guh;  4. Milfs; mzptjpy;iy 

 A B C D 
a. 1 2 3 4 
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b. 4 3 2 1 
c. 3 1 4 2  
d. 4 3 1 2 

 e. tpil njhpatpy;iy 
 

3. Match the following: 
A. Indus Valley   1. 1700 to 1122 BCE 
B. Egyptian   2. 3100 to 1100 BCE 
C. Mesopotomian   3. 3300 to 1900 BCE 
D. Chinese    4. 3500 to 2000 BCE 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 3 2 4 1  
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf. 
A. rpe;Jntsp    1. 1700 – 1122 ngh.M.K 

B. vfpg;J     2. 3100 – 1100 ngh.M.K 
C. nkrgNlhkpah    3. 3300 – 1900 ngh.M.K 

D. rPdk;   4. 3500 – 2000 ngh.M.K 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 3 2 4 1  
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

4. Arrange it in Chronological Order: 
1. Nediyon     2. Nedunchezhiyan 
3. Mudukudumi Peruvazhuthi  4. Nanmaran 

 a. 1-2-3-4  b. 3-4-1-2  c. 4-2-3-1 d. 1-4-3-2 e. Answer not known 
 fhythpirg;gb xOq;FgLj;Jf. 
 1. nebNahd;     2. neLQ;nropad;  
 3. KJFLkpg; ngUtOjp   4. ed;khwd;  
 a. 1-2-3-4  b. 3-4-1-2  c. 4-2-3-1 d. 1-4-3-2 e. tpil njhpatpy;iy 

 
5. Which of the following statements is/are correct?  

I. Harappan people adopted double cropping system  
II. Harappan cattle are called “Kebu” 
III. Harappans used both stone and bronze tools 
a. I and II only    b. I and III only   c. II only  
d. All the above   e. Answer not known 
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gpd;tUk; $w;Wfspy; rhpahdJ vJ? 
I. `ug;gh kf;fs; ,ul;ilr; rhFgb Kiwiaf; filg;gpbj;jhh;fs;. 
II. `ug;ghtpd; khLfs; ‘nfG’ vd miof;fg;gLfpwJ. 
III. `ug;gh kf;fs; fy; kw;Wk; ntz;fyj;jpdhyhd MAjq;fisg;  

gad;gLj;jpdh;. 
a. I kw;Wk;  II kl;Lk;   b. I kw;Wk;  III kl;Lk;  c. II kl;Lk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

6. Match the following: 
A. Cutical Weights   1. Steatite 
B. Weighting Balance   2. Chert  
C. Preist King    3. Bronze 
D. Dancing Girl   4. Copper 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 1 3 2 4 
d.  2 4 1 3 
e. Answer not known 
nghUj;Jf. 
A. fdrJu vilfs;  1. rh;f;fhuf;fy; 

B. juhRfs;    2. fUq;fy; 
C. kjFU (m) murd;  3. ntz;fyk; 

D. eldg; ngz;   4. nrk;G 

 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 1 3 2 4 
d.  2 4 1 3 
e. tpil njhpatpy;iy 
 

7. A wheel makes 1000 revolutions in covering a distance of 88 km. Find the 
radius of the wheel  
a. 13 m  b. 12 m c. 11 m d. 14 m e. Answer not known 
88 fp.kP njhiyT nry;tjw;F xU rf;fuk; 1000 Rw;Wfs; 
vLj;Jf;nfhs;fpwJ.  mr;rf;fuj;jpd; Muk; fhz;f.  
a. 13 m  b. 12 m c. 11 m d. 14 m e. tpil njhpatpy;iy 
 

8. Consider the following statements: 
Assertion (A): Harappa and Mohenjo-Daro might have had a city – 

state like polity 
Reason (R): Harappan cities has no uniformity in cultural material 

and measurement units.   
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a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A) 
c. (A) and (R) are correct 
d. (A) and (R) are correct but (R is not the correct explanation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): `ug;ghTk; nkh`Q;rjhNuhTk; efu muRfSf;fhd 

Ml;rpaikg;gpd; fPo; ,aq;fpapUf;fyhk;. 
fhuzk; (R): `ug;gh efuq;fspy;> gz;ghl;Lg; nghUs;fspYk;> 
mstPLfspYk; rPuw;W fhzg;gLfpwJ. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) MdJ (A) tpw;fhd rhpahd 

tpsf;fk; 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) MdJ (A) tpw;fhd rhpahd 

tpsf;fk; my;y. 
e. tpil njhpatpy;iy 
 

9. Which of the following statements is/are correct? 
I. Erecting hero stones is considered to be an extension of the Menhir 

type of Megalithic traditions 
II. Carnelian beads akin to those found at Mohenjo-Daro were 

unearthed in Adichanallur 
III. In Tamil Nadu, Black-ware is found mostly in burial mounds and 

not in habitations 
a. I and II only   b. I and III only   c. II only   
d. None of the above e. Answer not known 
rhpahd $w;iw fz;lwpf. 

I. Nghu; tPuh;fs; epidthf eLfy; eLk; kuG> ngUq;fw;fhy <kf; 
Fj;Jf;fy; kugpd; njhlh;r;rpahff; fUjg;gLfpwJ. 

II. nkh`Q;rjhNuh mfoha;tpy; fz;lwpag;gl;lijg; Nghd;w 
nrk;kzpf;fw;fs; Mjpr;rey;Y}hpy;  mfo;e;njLf;fg;gl;ld. 

III. jkpofj;jpy;> fUg;Gepw kl;ghz;lq;fs; kf;fs; tho;e;j 
FbapUg;Gfisf; fhl;bYk; ,we;jth; Gijf;fg;gl;l 
GijNkLfspNyNa mjpfk; fpilf;fpd;wd. 

a. I kw;Wk; II kl;Lk; b. I kw;Wk; III kl;Lk;  c. II kl;Lk;  
d. ,it vJTkpy;iy e. tpil njhpatpy;iy 

 
10. Which of the following statements is/are correct? 

I. Hero stones are memorials erected for those lost their lives in cattle 
raids 

II. Silapadhikaram describes the procedures for erecting hero stones  
III. Hero Stones also have images of the warriors 
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a. II only    b. II and III only   c. I and III only 
d. None of the above e. Answer not known 
rhpahd $w;iw fz;lwpf. 
I. Mepiu ftUk; rz;ilfspy; tPukuzk; mile;jth;fspd; epidthf 

eLfw;fs; elg;gl;ld 
II. eLfw;fs; elg;gLtjw;fhd topKiwfs; Fwpj;J rpyg;gjpfhuk; 

tphpthf vLj;Jiwf;fpwJ. 
III. eLf;fw;fspy; tPuu;fspd; cUtq;fSk; nrJf;fg;gl;Ls;sd. 
a. II kl;Lk;   b. II kw;Wk; III kl;Lk;   
c. I kw;Wk; III kl;Lk; d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 
11. Which of the following statements is/are correct? 

I. Mahavira acquired the highest knowledge in his thirteenth year of 
asceticism 

II. Mahavira believed all objects both animate and inanimate have 
souls and consciousness 

III. Invasion of Huns and Turks is an important reason for the decline 
of Jainism 

a. I and II only    b. I and III only   c. III only 
d. None of the above  e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdJ vJ? 
I. kfhtPuh; Jwtw tho;tpd; gjpd;%d;whtJ Mz;by; cahpa Qhdj;ij 

mile;jhh;. 
II. capUs;s> capuw;w vd midj;Jg; nghUl;fSf;Fk; Md;khTk; 

czh;Tk; cz;L vd kfhtPuh; Nghjpj;jhh;. 
III. rkzj;jpd; tPo;r;rpf;F `{zh;fs;> JUf;fpah;fspd; gilnaLg;Gfs; 

xU Kf;fpa fhuzkhf mike;jJ. 
a. I kw;Wk; II kl;Lk;    b. I kw;Wk;  III kl;Lk;   c. III kl;Lk; 
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 
 

12. Choose the correct Statement about Tamil Nadu Forest and wildlife crime 
control Bureau  

1. The objective of the bureau is to check illegal wildlife crime across 
the state and protect them from getting endangered  

2. It functions under a director and four additional directors for 
Chennai, Coimbatore, Madurai and Ramanathapuram Zones.  

a. 1 only     b. 2 only   c. Both 1, 2 are correct  
d. Both 1, 2 are incorrect   e. Answer not known 
jkpo;ehL td kw;Wk; tdtpyq;F Fw;wf; fl;Lg;ghl;Lg; gw;wpa rupahd 
mwpf;ifiaj; Nju;T nra;aTk;. 
1. khepyk; KOtJk; cs;s rl;ltpNuhj tdtpyq;F Fw;wq;fisr; 

rupghu;j;J> mtw;iw Mgj;jpy; ,Ue;J ghJfhg;gNj gzpafj;jpd; 
Nehf;fkhFk;. 
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2. xU ,af;Feu; kw;Wk; nrd;id> Nfhak;Gj;J}u;> kJiu kw;Wk; 
uhkehjGuk; kz;lyq;fSf;fhd ehd;F $Ljy; ,af;Feu;fspd; fPo; ,J 
nray;gLfpwJ. 

a. 1 kl;Lk;       b. 2 kl;Lk;    
c. 1> 2 ,uz;Lk; rupahdJ       d. 1> 2 ,uz;Lk; jtwhdit 
e. tpil njupatpy;iy 
 

13. In India, which state/U.T. provide In Vitro fertilization (IVF) treatment 
facility free of cost for the first time  
a. Goa   b. Puducherry   c. Punjab    
d. Delhi    e. Answer not known 
,e;jpahtpy;> ve;j khepyk; / UT Kjy; Kiwahf Ma;tf fUj;jupg;G 

(IVF) rpfpr;ir trjpia ,ytrkhf toq;FfpwJ? 
a. Nfhth   b. GJr;Nrup     c. gQ;rhg;    

d. nly;yp  e. tpil njupatpy;iy 
 

14. Kanishka was a great patron of art and literature. Which of the following 
personalities adorned his court? 
a. Aswaghosa, Parsva, Vasumitra and Charaka 
b. Aswaghosa, Nagarjuna, Vasumitra and Charaka 
c. Aswaghosa, Parsva, Hemachandra and Charaka 
d. Aswaghosa, Parsva, Asanga and Charaka 
e. Answer not known 
gpd;tUtdtw;Ws; vJ fiy kw;Wk; ,yf;fpaj;jpd; ngUk; Gutyuhf ,Ue;j 
fdp\;fhtpd;   muz;kidia myq;fupj;jJ? 
a. m];tNfhrh> ghu;];th> tRkpj;uh kw;Wk; rufh  
b. m];tNfhrh> ehfhu;[{dh> tRkpj;uh kw;Wk; rufh  
c. m];tNfhrh> ghu;];th> N`kr;re;jpuh kw;Wk; rufh  
d. mtNfhrh> ghu;];th> mrq;fh kw;Wk; rufh 
e. tpilnjupatpy;iy 
 

15. The largest number of discourses delivered by Buddha were at: 
a. Sravasti  b. Kausambi    c. Rajagriha   
d. Saranath  e. Answer not known 
gpd;tUtdtw;wpy; Gj;jupd; nrhw;nghopTfs; mjpf vz;zpf;ifapyhd  ,lk; 
ngw;wJ vJ? 
a. ];ut];jp  b. nfsrhk;gp    c. uh[fpup`h   
d. rhuehj;  e. tpilnjupatpy;iy 
 

16. Which one of the following is the correct choronological sequence? 
a. Ashtadhyayi – Buddhacharita – Kathasaritsagara – Meghaduta 
b. Ashtadhyayi – Buddhacharita – Meghaduta  - Kathasaritsagara  
c. Buddhacharita – Ashtadhyayi - Meghaduta  - Kathasaritsagara 
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d. Buddhacharita – Ashtadhyayi - Kathasaritsagara - Meghaduta    
e. Answer not known 
gpd;tUtdtw;wpy; vJ rupahd fhytupir vd tupir gLj;Jf? 
a. m~;lj;ahap – Gj;jrupjh – fjhrupj;rhfuh – NkfJ}jh  
b. m~;lj;ahap – Gj;jrupjh – NkfJ}jh - fjhrupj;rhfuh  
c. Gj;jrupjh – m~;lj;ahap - NkfJ}jh - fjhrupj;rhfuh  

d. Gj;jrupjh – m~;lj;ahap - fjhrupj;rhfuh – NkfJ}jh 
e. tpilnjupatpy;iy 

 
17. Two cubes each of volume 27 cm3 are joined to form a cuboid then the 

total surface area of the cuboid is 
a. 54 cm2 b. 90 cm2 c. 60 cm2 d. 45 cm2 e. Answer not known 
fd msT 27 r.nr.kP msTs;s ,U fdr;rJuq;fs; ,izf;fg;gLk; NghJ 
fpilf;Fk; fd nrt;tfj;jpd; nkhj;j Nkw;gug;G ahJ? 
a. 54 cm2 b. 90 cm2 c. 60 cm2 d. 45 cm2 e. tpil njhpatpy;iy                                                                                                                                                                                                                                                                                                                

 
18. Choose the correct Statements  

1. Bharatiya Nyaya Sanhita 2023 replacing the Indian penal code (IPC) – 
1860 

2. Bharatiya Nagarik Suraksha Sanhita 2023 replacing the Indian 
Evidence Act – 1872  

3. Bharatiya Sakshya bill 2023 replacing the Criminal procedure code 
(CrPC) – 1973 

a. 1 only   b. 2, 3     c. 1, 2   
d. 3 only   e. Answer not known 
gpd;tUtdtw;wpy; rupahd mwpf;iffisj; Nju;e;njLq;fs;: 
1. ,e;jpa jz;lid rl;lk; (IPC) 1860 I khw;Wk; Nehf;fpy;> ghujpa     

epaha rk;`pjh 2023 cUthf;fg;gl;Ls;sJ.  
2. ,e;jpa Fw;w Mjhur; rl;lk;> 1872 I khw;Wk; Nehf;fpy;> ghujpa efhpf; 

Ruf;~h 2023 cUthf;fg;gl;Ls;sJ. 
3. ghujpa rhf;~pa rl;lk; 2023 vd;gJ Fw;w eilKiwr; rl;lj;ij (CrPC) 

- 1973 khw;wpaikf;Fk; Nehf;fj;Jld; cUthf;fg;gl;l xU rl;l tiuT 
MFk;. 

a. 1 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 2 kl;Lk; 
d. 3 kl;Lk;  e. tpil njupatpy;iy 

 
19. avaiyaRinhadhu aaraaindhu solluka sollin 

thokaiyaRindha thooimai yavar 
In this Kural the term avai means 
a. forum   b. packing    c. association 
d. a and c   e. answer not known 
mitawpe;J Muha;e;J nrhy;Yf nrhy;ypd;  
njhifawpe;j J}a;ik ath; - vd;w Fwspy; “mit” vd;gjd; nghUs; 
vd;d? 
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a. kd;wk;   b. nghjpT    c. fofk; 
d. a kw;Wk; c  e. tpil njhpatpy;iy 

 
20. Choose the kural for the following meaning 

The modesty by which one does not rush forward and speak in (an 
assembly of) superiors is the best among all (one's) good qualities. 
a. As in the way one tottering falls, is slip before 

The men whose minds are filled with varied lore. 
b. The learning of the learned sage shines bright 

To those whose faultless skill can value it aright. 
c. To speak where understanding hearers you obtain, 

Is sprinkling water on the fields of growing grain!. 
d. Midst all good things the best is modest grace, 

That speaks not first before the elders' face. 
e. Answer not known 
mwpTkpFe;jthpilNa Ke;jpnrd;W Ngrhj mlf;fk; xUtDf;F ed;ik 
vd;W nrhy;yg;gl;lit vy;yhtw;wpYk; ey;yJ – vd;gij czh;j;Jk; Fws; 
vJ? 
a. Mw;wpd; epiyjsh;e; jw;Nw tpad;gyk; 

Vw;Wzh;thh; Kd;dh; ,Of;F 
b. fw;wwpe;jhh; fy;tp tpsq;Fk; frlwr; 

nrhy;njhpjy; ty;yhh; mfj;J 
c. czh;t Jilahh;Kd; nrhy;yy; tsh;tjd; 

ghj;jpAs; ePh;nrhhpe; jw;W 
d. ed;nwd;w tw;Ws;Sk; ed;Nw KJtUs;  

Ke;J fpsthr; nrwpT 
e. tpil njhpatpy;iy 

 
21. The temple in Kanchipuram where the ceiling is painted with life story of 

Mahavira, 
a. Tiruvekka temple   b. Kailasanatha Temple 
c. Ekambareswarar Temple  d. Thiruparuthikundram Temple 
e. Answer not known 
fhQ;rpGuj;jpy; cs;s ve;j Nfhapypd; $iuapy; kfhtPuhpd; tho;f;iff; fij 
Xtpakhf tiuag;gl;Ls;sJ? 
a. jpUntf;fh Nfhapy;  b. ifyhrehjh; Nfhapy; 
c. Vfhk;guehjh; Nfhapy;  d. jpUg;gUj;jpf;Fd;wk; Nfhapy; 
e. tpil njhpatpy;iy 
 

22. Which of the following statements is/are correct? 
I. The three principles of Buddhism are known as Tri-Ratnas 
II. According to Buddha, woman can be enlightened by following the 

path of a renunciation 
III. Mahayana Buddhism was the original creed preached by Buddha 
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a. I and II only    b. I and III only  c. II only 
d. None of the above  e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdJ vJ? 
I. ngsj;jj;jpd; Kf;fpakhd %d;W nfhs;iffs; Kk;kzpfs; (jphpuj;dh) 

vd;W miof;fg;gLk;. 
II. Gj;jhpd; Nghjidg;gb> ngz;fs; cyf ,d;gq;fisAk; 

Mlk;guq;fisAk; Jwe;jhy; nka;awpit mila KbAk;. 
III. k`hahdk;> Gj;jh; Nghjpj;j mry; tbtkhFk;. 
a. I kw;Wk;  II kl;Lk;   b. I kw;Wk;  III kl;Lk; c. II kl;Lk;  
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 
 

23. Consider the following: 
Assertion (A): Jains could not practice agriculture 
Reason (R): In Jainism, only monks could achieve liberation from the 
   cycle of birth and rebirth 
a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A) 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
$w;W (A): rkzh;fshy; Ntshz;ik njhopypy; <Lgl Kbatpy;iy. 
fhuzk; (R): rkz kjj;jpy; Jwtpfshy; kl;LNk gpwg;G> ,wg;G vd;w 
Row;rpapypUe;J tpLjiy ngw KbAk;. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R), (A) tpw;F rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R),  (A) tpw;F rhpahd tpsf;fky;y. 
e. tpil njhpatpy;iy 
 

24. Match the following regarding Ashoka’s Major rock edicts 
A. Rock Edict I   1. Dhamma  
B. Rock Edict II   2. Victory of Kalinga 
C. Rock Edict III   3. Chola, Chera and Pandyas 
D. Rock Edict XIII    4. Prohibits animal slaughter 
 A B C D 
a. 2 3 4 1 
b. 4 1 3 2 
c. 2 1 4 3  
d. 4 3 1 2 
e. Answer not known 
 



 

10 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

mNrhfhpd; 14 ghiwf; fy;ntl;Lfisg; nghUj;J gpd;tUtdtw;iwg; 
nghUj;Jf. 
A. Kjyhk; ghiwf; fy;ntl;L  1. jh;kk; 
B. ,uz;lhk; ghiwf; fy;ntl;L  2. fypq;f ntw;wp 

C. ehd;fhk; ghiwf; fy;ntl;L  3. Nrho Nru ghz;bah;fs; 
D. 13Mk; ghiwf; fy;ntl;L  4. tpyq;F tijj;jil 
 A B C D 
a. 2 3 4 1 
b. 4 1 3 2 
c. 2 1 4 3  
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

25. Find the sum of all natural numbers between 300 and 500 which are 
divisible by 11. 
a. 7337 b. 7227 c. 7447 d. 7557 e. Answer not known 
300f;Fk; 500 f;Fk; ,ilNaAs;s 11 My; tFgLk; midj;J ,ay; 
vz;fspd; $l;Lg;gyd; fhz;f 
a. 7337 b. 7227 c. 7447 d. 7557 e. tpil njhpatpy;iy 

 
26. Which of the following statements is/are correct? 

I. Agriculture flourished in the Gupta period 
II. Akshapataladhikrita maintained records of all land transactions 
III. The Military campaigns of Samudragupta were financed through 

revenue surpluses 
a. II only    b. II and III only   c. I and III only   
d. All the above    e. Answer not known 

 gpd;tUk; $w;Wfspy; rhpahdJ vJ? 
I. Fg;jh; Ml;rpf; fhyj;jpy; Ntshz;ik Nkk;ghL mile;jJ. 
II. mf;~gjyjpf;fpUjh vd;w mjpfhhp epyg;ghpkhw;wk; njhlh;ghd 

tzq;fs; 
midj;ijAk; ghJfhj;jhh;. 

III. rKj;jpuFg;jh; Nkw;nfhz;l gilnaLg;gfSf;fhd epjp tUtha;fspd; 
cghpepjpapypUe;J fpilj;jJ. 

a. II kl;Lk;     b. II kw;Wk;  III kl;Lk; c. I kw;Wk; III kl;Lk; 
d. Nkw;$wpa vJTkpy;iy e. tpil njhpatpy;iy 

 
27. Match the following: 

A. Avanti   - 1. Secret service department  
B. Simhananda  - 2. Minister of foreign relations 
C. Banu   - 3. Commander – in – chief  
D. Sarvagata  - 4. Keeper of records 
 A B C D 
a. 2 3 4 1 
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b. 2 1 3 4 
c. 1 2 3 4 
d.   4 2 1 3 
e. Answer not known 
nghUj;Jf. 
A. mte;jp    1. csTj;Jiw 

B. rpk;khde;jh  2. maYwT mikr;rh; 
C. ghD   3. gilj;jsgjp 

D. rh;tfjh;   4. Mtzg; gjpthsh; 
 A B C D 
a. 2 3 4 1 
b. 2 1 3 4 
c. 1 2 3 4 
d.   4 2 1 3 
e. tpil njhpatpy;iy 
 

28. Which of the following statements is/are Correct? 
I. Caste System was firmly established during the Pallava period. 
II. Mahendravarman was the first Pallava to adopt the Worship of 

Siva 
III. Narasimhavarman I is credited with the introduction of rock cut 

temples in the Pallava territory 
a. I and III only  b. I only   c. I and II only 
d. None of the above e. Answer not known 

 gpd;tUk; $w;Wfspy; rhpahdJ vJ? 
I. gy;yth; fhyj;jpy; rhjpaikg;G tYthf epWtg;gl;lJ. 
II. kNfe;jputh;kNd gy;yth;fspy; Kjd;Kjyhf irtj;ijj; jOtpdth;. 
III. gy;yth; gFjpfspy; Filtiuf; Nfhapy;fis mwpKfk; nra;j 

ngUik Kjyhk; eurpk;kth;kidr; NrUk;. 
a. I kw;Wk;  III kl;Lk;  b. I kl;Lk;  c. I kw;Wk;  II kl;Lk;   
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 
 

29. Which of the following are correctly matched? 
I. Cave Temple   –  Mandagapattu Temple 
II. Monoliothic Rathas  – Mamandur temple 
III. Structural Temple -  Matangeswara temple 
a. II only    b. I and III only  c. I only  
d. None of the above  e. Answer not known 

 gpd;tUtdtw;Ws; vit rhpahf nghUe;jpAs;sJ? 
I. Filtiuf;Nfhapy; - kz;lfg;gl;L Nfhapy; 
II. Xw;iwf; fy; ujk; - khkz;^h; Nfhapy; 
III. fl;Lkhdf; Nfhapy; - kjq;fP];tuh; Nfhapy; 
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a. II kl;Lk;    b. I kw;Wk;  III kl;Lk;  c. I kl;Lk; 
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 

 
30. Which of the following statements is/are correct? 

I. Vativaykkal is a traditional way to harnessing rain water in Krishna-
Godavari Delta 
II. Vati runs the east-west direction 
III. Technically, Vati is a supply channel and Vaykkal is a drainage 
channel 
a. I and III only    b. I only   c. II only 
d. None of the above  e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdJ vJ? 

I. tb> tha;f;fhy; vd;w fhy;tha;fs; kioePiur; Nrkpj;J itg;gjw;Ff; 
fpU~;zh-Nfhjhthp tbepyg;gFjpapy; gad;gl;l kuGtop Kiw 

II. tb vd;gJ fpof;F – Nkw;fhf XLtjhFk;. 
III. tb vd;gJ ePiuf; nfhz;LtUtijAk;> tha;f;fhy; vd;gJ ePiu 

ntspNaw;WtijAk; Fwpf;Fk;.  
a. I kw;Wk; III kl;Lk;   b. I kl;Lk;   c. II kl;Lk; 
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 
 

31. Consider the statement about Digital Personal Data  protection act – 2023 
1. Personal data may be processed only for a lawful purpose after 

obtaining the consent of the Data principal  
2. Data Fiduciary must ensure the accuracy and completeness of Data  
3. Establishment of Data protection Board of India (DPBI) by the central 

government  
Choose the correct statement  
a. 1, 2   b. 1, 3  c. 2,  3  d. 1, 2, 3  e. Answer not known 
b[pl;ly; jdpegu; juT ghJfhg;Gr; rl;lk; - 2023 gw;wpa mwpf;ifiaf; 
ftdpAq;fs; 
1. juT cupikahsupd; rk;kjj;ijg; ngw;w gpwF kl;LNk> rl;lG+u;tkhd 

Nehf;fj;jpw;fhf jdpg;gl;l juit nray;gLj;j KbAk;. 
2. juT ngWk; Kfik jutpd; Jy;ypak; kw;Wk; KOikia cWjp nra;a 

Ntz;Lk;. 
3. kj;jpa murhy; ,e;jpa juT ghJfhg;G thupak; (DPBI) epWtg;gl;lJ 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahd tpiliaj; 
Nju;e;njLf;fTk;. 
a. 1 kw;Wk; 2 kl;Lk; b. 1 kw;Wk; 3 kl;Lk; c. 2 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njupatpy;iy 

 
32. FAG, GAF, HAI, IAH, _________ 

a. JAK b. HAL c. HAK d. JAI  e. Answer not known 
FAG, GAF, HAI, IAH, _________ 
a. JAK b. HAL c. HAK d. JAI  e. tpil njhpatpy;iy 

 



 

13 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

33. Which of the following were parts of the Chera Kingdom? 
1. Korkkai  2. Musiri 3. Puhar 4. Saliyur  5. Tondi 
a. 1, 2 and 4  b. 2 and 5    c. 2, 3 and 4   
d. 3, 4 and 5  e. Answer not known 
gpd;tUtdtw;wpy; Nru ,uhr;rpaj;jpd; gFjpfs; ahit? 
1. nfhw;if   2. Krpwp  3. Gfhu;  4. rhypA+u;   5. njhz;b 
a. 1> 2 kw;Wk; 4   b. 2 kw;Wk; 5   c. 2> 3 kw;Wk; 4   
d. 3> 4 kw;Wk; 5  e. tpilnjupatpy;iy 
 

34. Assertion (A): The Chola ruler Rajendra’s atrocities during his conquest of 
Sri Lanka have veen highlighted in the Mahavamsa. 
Reason(R) : The author had a strong sympathy for Buddhism  
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is the not a correct explanation of A 
c. A is true but R is false 
d. A is false but R is true 
e. Answer not known 
$w;W (A): Nrho kd;dd; uhN[e;jpud; ,yq;ifiaf; ifg;gw;wpaNghJ 
mtd; nra;j nfh^uq;fs; kfhtkrj;jpy; Fwpg;gplg;gl;Ls;sd. 
fhuzk; (R): Gj;jkjj;jpd; kPJ vOj;jhsUf;F kpFe;j mDjhgk; ,Ue;jJ. 

a. A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk;. 
b. A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk; 

my;y. 
c. A rup Mdhy; R vd;gJ jtW   
d. A jtW  Mdhy; R rup 
e. tpilnjupatpy;iy 
 

35. Which of the following characterized the Tamil society of Sangam Age? 
1. Complex caste system 
2. Prohibition of intermarriage between the kings and the velalas 
3. Vegetarianism among the Brahmanas 
4. Gradual Aryanisation 
a. 1 alone  b. 1 and 2    c. 2 and 3  
d. 4 alone   e. Answer not known 
gpd;tUtdtw;Ws; rq;f fhy jkpo; rKjhaj;jpd; rpwg;gpay;Gfs; vJ? 
1. rpf;fyhd rhjp mikg;G  
2. muru;fSf;Fk; Ntshsu;fSf;Fk; ,ilapyhd jpUkzj; jil  
3. gpuhkzu;fspilNa irtk;  
4. gbg;gbahd Mupakakhf;fy; 
a. 1 kl;Lk;   b. 1 kw;Wk; 2    c. 2 kw;Wk; 3  
d. 4 kl;Lk;  e. tpilnjupatpy;iy 
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36. Which of the following countries agreed to become a member of BRICS  
1. Argentina   2. Afghanistan   3. Egypt  
4. Ethiopia    5. Iran    6. Australia  
7. Saudi Arabia   8. UAE    9. Nepal  
a. 1, 2, 3, 4, 7, 8  b. 1, 3, 4, 5, 6, 8   c. 1, 3, 4, 5, 7, 9  
d. 1, 3, 4, 5, 7, 8  e. Answer not known 
gpd;tUk; ehLfspy; ve;nje;j ehLfs; gpupf;]; mikg;gpy; cWg;gpduhf Nru 
xg;Gf;nfhz;lJ? 
1. mu;n[d;bdh   2. Mg;fhdp];jhd;   3. vfpg;J  
4. vj;jpNahg;gpah   5. <uhd;     6. M];jpNuypah  
7. rTjp mNugpah   8. If;fpa muG mkPufk;  9. Neghsk; 
a. 1, 2, 3, 4, 7, 8  b. 1, 3, 4, 5, 6, 8   c. 1, 3, 4, 5, 7, 9  
d. 1, 3, 4, 5, 7, 8  e. tpil njupatpy;iy 

 
37. Who was declared as the Election commission of India’s (ECI) National 

icon?  
a. Sachin Tendulkar  b. M.S. Dhoni   c. Virat Kohli   
d. Rohit Sharma   e. Answer not known 
,e;jpa Nju;jy; Mizaj;jpd; (ECI) Njrpa gpugykhf mwptpf;fg;gl;ltu; 
ahu;? 
a. rr;rpd; nlz;Ly;fu;  b. vk;. v];. Njhdp  c. tpuhl; Nfhyp  
d. Nuh`pj; ru;kh  e. tpil njupatpy;iy 

 

38. Who is called as the most learned among learned? 
a. Those who can agreeably set forth their acquirements before the 

learned 
b. Those who can agreeably set forth their acquirements before the 

unlearned 
c. Those who can agreeably set forth their acquirements before the 

learned and unlearned 
d. None 
e. Answer not known 
fw;whWs; fw;whh; vdg;gLgth; ahh;? 
a. fw;wthpd; Kd; jhk; fw;wtw;iw mth; kdjpy; gjpAkhW nrhy;yty;yth; 
b. fy;yhjthplj;jpy; jhk; fw;wtw;iw mth; kdjpy; gjpAkhW 

nrhy;yty;yth; 
c. fw;whh;> fw;whjh; ,lj;jpy; jhk; fw;wtw;iw mth; kdjpy; gjpAkhW 

nrhy;yty;yth; 
d. Nkw;$wpa vitAkpy;iy 
e. tpil njhpatpy;iy 

 

39. __________ encountering death in the face of foe will hold their ground;  
Who speak undaunted in the council hall are _______ found 
a. Rare, Many  b. Many, Rare c. Learned among learned 
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d. learned yet useless e. Answer not known 
gifafj;Jr; rhthh; ______, _____ 
mitafj;J mQ;rh jth; 
a. mhpah;> vspah;  b. vspah;> mhpah;  c. fw;whUs;> fw;whh; 
d. fw;Wk;> gakpyNu e. tpil njhpatpy;iy 
 

40. Identify the correctly matched pairs among the following: 
I. Thanjavur Big Temple    - 243 Feet 
II. Gangaikonda Cholapuram Temple  - 180 Feet  
III. Dharasuram Temple    - 80 Feet 
a. I and II only   b. I and III only   c. II and III only 
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; rhpahf nghUj;jg;gl;Ls;s ,izfis milahsk; 
fhl;Lf. 

I. jQ;ir nghpa Nfhtpy;   - 243 mb 
II. fq;if nfhz;l NrhoGuk; Nfhapy; - 180 mb 

III. jhuhRuk; Nfhapy;    - 80 mb 
a. I kw;Wk;  II kl;Lk;   b. I kw;Wk;  III kl;Lk;   c. II kw;Wk;  III kl;Lk; 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

41. Kazhugumalai Jain rock-cut temple was built by,  
a. Narasimhavarman II   b. Parantaka Nedunjadaiyan 
c. Arikesaro Maravarmar  d. Sadaiyavarman Sundarapandyan 
e. Answer not known 
fOFkiy rkz Filtiuf;Nfhtpy; ahuhy; cUthf;fg;gl;lJ? 
a. ,uz;lhk; eurpk;kd;  b. guhe;jf neLQ;rilad; 

c. mhpNfrhp khwth;kd;  d. rilath;kd; Re;jughz;bad; 

e. tpil njhpatpy;iy 
 

42. The perimeter of a triangular plot is 600 m. If the sides are in the ratio 5 : 
12 : 13 then find the area of the plot. 
a. 11000 sq.m.  b. 14000 sq.m.   c. 12000 sq.m.  
d. 13000 sq.m.  e. Answer not known 
xU Kf;Nfhz tbtpyhd kidapd; Rw;wsT 600kP. mjd; gf;fq;fs; 5 : 12 
: 13 vd;W tpfpjj;jpy; cs;sd vdpy; me;j kidapd; gug;G fhz;f.  
a. 11000 r.kP   b. 14000 r.kP   c. 12000 r.kP  
d. 13000 r.kP   e. tpil njhpatpy;;iy 
 

43. Examine the following statements 
Statement (A): Gods of the Early Vedic period like Indra and Agni lost 
    their importance in later Vedic period. 
Reason (R):   Prajapathi, Vishnu and Rudra became prominent 
    during the Later Vedic Period.  
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a. A and R are right ‘R’ is the correct explanation for A 
b. A and R are right but ‘R’ is not the correct explanation for A 
c. A is right but ‘R’  is wrong 
d. A is wrong but ‘R’ is right 
e. Answer not known 
fPo;fz;l $w;Wfis ftdp: 
$w;W (A): Ke;ija Ntjfhyf; flTshd ,e;jpuDk; mf;dpAk; gpe;ija 
Ntj fhyj;jpy; nry;thf;fpoe;jdh; 
fhuzk; (R): gpe;ija Ntjfhyj;jpy; gpu[hgjp> tp~;Z> Uj;ud; Mfpa  
flTshh; Kf;fpaj;Jtk; ngw;wdh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) vd;gJ (A) tpw;F rhpahd 

tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) vd;gJ (A) tpw;F rhpahd 

tpsf;fky;y 
c. (A) rhp Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rhp 
e. tpil njhpatpy;iy 

 
44. Match the following 

A. Eastern Chalukyas  1. Warangal 
B. Yadavas    2. Vengi 
C. Kakatiyas   3. Dwarasamudra 
D. Hoysalas    4. Devagiri 
     5. Talkad 
 A B C D 
a. 1 2 3 4 
b. 5 3 1 2 
c. 2 4 1 3 
d. 2 5 1 4 
e. Answer not known 
nghUj;Jf 
A. fpof;F rhSf;fpah;fs;  1. thuq;fy; 
B. ahjth;fs;   2. ntq;fp 
C. fhfjPah;fs;   3. Jthu rKj;jpuk; 

D. n`ha;rhsh;fs;   4. Njtfphp 
     5. jiyf;fhL 

A B C D 
a. 1 2 3 4 
b. 5 3 1 2 
c. 2 4 1 3 
d. 2 5 1 4 
e. tpil njhpatpy;iy 
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45. Choose the correct statement 
1. The Allahabad Pillar Inscription describes the extensive conquests of 

Samudragupta 
2. The famous Mehrauli Iron Pillar Inscription describes the conquest of 

Chandragupta Maurya 
a. 1 only   b. 2 only   c. both 
d. none   e. answer not known 
rhpahd $w;iwj; Njh;f 
1. myfhghj; fy;ntl;L rKj;jpuFg;jhpd; tphpthd ntw;wpia tpsf;FfpwJ.  
2. nk`uhyp ,Uk;Gj;J}z; fy;ntl;L re;jpuFg;j nkshpahpd; ntw;wpia 

tpsf;FfpwJ.  
a. 1 kl;Lk;   b. 2 kl;Lk;   c. ,uz;Lk; 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 
46. Which one of the following is correctly matched 

a. First Buddhist council  - Kashmir 
b. Second Buddhist council - Vaisali 
c. Third Buddhist Council - Rajagriha 
d. Fourth Buddhist Council - Pataliputra 
e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j xd;W kl;Lk; rhpahf nghUe;JfpwJ? 
a. Kjy; Gj;j khehL  - fh\;kPh; 
b. ,uz;lhk; Gj;j khehL  - itrhyp 

c. %d;whk; Gj;j khehL  - uh[fphpfk; 

d. ehd;fhk; Gj;j khehL  - ghlypGj;jpuk; 
e. tpil njhpatpy;iy 
 

47. Arrange the correct order of Malik Kafur’s South Indian expeditions 
 I. Madurai  II. Warrangal III. Devagiri IV. Dwara Samudhram 
 The correct order is 
 a. II, III, I, IV b. III, II, IV, I   c. IV, I, II, III  

d. IV, III, I, II e. Answer not known 
khypf;fhG+hpd; njd;dpe;jpa gilnaLg;Gfis rhpahf thpirg;gLj;Jf: 
I. kJiu   II. thuq;fy;  III. Njtfphp IV. Jthuf rKj;juk;  
rhpahd thpir:  
a. II, III, I, IV  b. III, II, IV, I    c. IV, I, II, III   
d. IV, III, I, II  e. tpil njhpatpy;iy 
 

48. Match the following 
A. Kabir   1. Weaver    
B. Ravidas   2. Barber 
C. Namadeva  3. Tailor 
D. Sena   4. Cobbler 
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 a b c d 
a. 1 4 3 2 
b. 3 2 1 4 
c. 3 2 4 1 
d. 1 4 2 3 
e. Answer not known 
nghUj;Jf 
A. fgPh;   1. nerthsp 

B. utpjh];   2. rpifayq;fhpg;gth; 
C. ehkNjth;   3. ijay; njhopyhsp 

D. Nrdh   4. fhyzp nra;gth; 

 A B C D 
a. 1 4 3 2 
b. 3 2 1 4 
c. 3 2 4 1 
d. 1 4 2 3 
e. tpil njhpatpy;iy 
 

49. Match the following 
Dynasty    Period of Rule 
A. The Slave Dynasty  1. AD 1206 – 1290 
B. The Khiljis   2. AD 1290 – 1320 
C. The Tuglags   3. AD 1320 – 1414 
D. The Syeds   4. AD 1414 – 1451 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 1 4 3 2 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf 
kuG    Ml;rpf;fhyk; 
A. mbik kuG  1. fp.gp.1206 Kjy; 1290 tiu 

B. fpy;[p kuG  2. fp.gp1290 Kjy; 1320 tiu 
C. Jf;sf; kuG  3. fp.gp.1320 Kjy; 1414 tiu 

D. iraj; kuG  4. fp.gp.1414 Kjy; 1451 tiu 

 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 1 4 3 2 
d. 1 3 2 4 
e. tpil njhpatpy;iy 
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50. A ground is in the shape of parallelogram. The height of the 

parallelogram is 14 metres and the corresponding base is 8 metres longer 
than its height. Find the cost of levelling the ground at the rate of 15 per 
sq.m.  
a. Rs. 4800  b. Rs.  4620   c. Rs. 4350   
d. Rs. 4600   e. Answer not known 
Xh; ,izfu tbtpyhd ikjhdj;jpd; cauk; 14 kP NkYk; mjd; 
mbg;gf;fk;> cauj;ij tpl 8 kP $Ljy; vdpy;> ikjhdj;ijr; rkg;gLj;j 
xU r.kP f;F ì 15 tPjk; vt;tsT nryT MFk;.  
a. Rs. 4800  b. Rs.  4620   c. Rs. 4350   
d. Rs. 4600   e. tpil njhpatpy;iy 

 
51. Match the following: 

Archaelogical Material/Pottery Historical Phase 
A. PGW – Painted Grey Ware  1. Gupta age 
B. Black and Red Ware   2. Harappan age 
C. NBPW – Northern Black  3. Early historic age Polished Ware 
D. RPW – Red Polished Ware  4. Mauryan age  
 A B C D 
a. 2 3 4 1 
b. 1 4 3 2 
c. 2 4 3 1 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf 
mfo;tha;T nghUl;fs; ghz;lq;fs;   tuyhw;W fhyk; 
A. tz;zk; g+rg;gl;l gOg;G nghUl;fs;  1. Fg;jh; fhyk; 
B. fUg;G rptg;G nghUl;fs;    2. `ug;gh fhyk; 

C. tlf;fj;jpa fUg;G kpDkpDg;G nghUl;fs; 3. rhpj;jpufhy Jtf;fk; 
D. rptg;G kpDkpDg;G nghUl;fs;   4. nkshpah; fhyk; 

A B C D 
a. 2 3 4 1 
b. 1 4 3 2 
c. 2 4 3 1 
d. 1 3 4 2 
e. tpil njhpatpy;iy 
 

52. Choose the correct statement  
1. Malabar Naval exercise takes place among the QUAD Members  
2. QUAD members are USA, India, Australia and Israel  
a. 1 only     b.  2 only   c. Both 1, 2 are correct 
d. Both 1, 2 are incorrect   e. Answer not known 
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gpd;tUtdtw;wpy; rupahd mwpf;iffisj; Nju;e;njLf;fTk; : 
1. kyghu; flw;gil gapw;rp Fthl; cWg;gpdu;fspilNa eilngWfpwJ 
2. QUAD cWg;gpdu; ehLfs; mnkupf;fh> ,e;jpah> M];jpNuypah kw;Wk; 

,];Nuy;. 
a. 1 kl;Lk;        b. 2 kl;Lk;      c. 1> 2 rup 
d. 1> 2 ,uz;Lk; jtW   e. tpil njupatpy;iy 
 

53. Match the following 
List I Tamil Historians   Period of Sangam Literature  
A. S.Vaiyapuri pillai   1. 320 BC to 300 AD 
B. K.A.Nilakantha Sastri   2. 500 BC to 500 AD 
C. V.R.Ramachandra Dikshitar  3. 300 AD to 500 AD 
D. N.Subrahmaniam   4. 1st AD to 300 AD 
 A B C D 
a. 3 4 2 1 
b. 1 3 2 4 
c. 4 3 1 2  
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf 
jkpo; tuyhw;wwpQh;fs;   jkpo; ,yf;fpa fhyk; 
A. S. itahGup gps;is     1. fp.K. 320 Kjy; fp.gp. 300 tiu  
B. K. ePyfz;l rh];jpup     2. fp.K. 500 Kjy; fp.gp. 500 tiu  

C. V.R. uhkr;re;jpu jPl;rpju;    3. fp.gp. 300 Kjy; fp.gp. 500 tiu  

D. N. Rg;ukzpak;    4. fp.gp. 1 Kjy; fp.gp.300 tiu 
A B C D 

a. 3 4 2 1 
b. 1 3 2 4 
c. 4 3 1 2  
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

54. Assertion (A): Construction of temples as tributes to dead kings was a 
    special feature of the Chola period. 
Reason(R):  The famous Siva temple at Gangaikonda Cholapuram 
    was built by Rajendra-I as attribute to his father.  
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is the not a correct explanation of A 
c. A is true but R is false 
d. A is false but R is true 
e. Answer not known 
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$w;W (A): ,we;j kd;du;fSf;F mQ;ryp nrYj;Jk; tifapy; 
Nfhapy;fisf; fl;LtJ Nrhou; fhyj;jpd; rpwg;G mk;rkhf 
,Ue;jJ. 

fhuzk; (R): fq;ifnfhz;l NrhoGuj;jpy; cs;s Gfo;ngw;w rptd; Nfhapy; 
   Kjyhk; uhN[e;jpud; vd;gtuhy; mtuJ je;ijapd; epidthf 
   fl;lg;gl;lJ. 
a. A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk;. 
b. A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk; 

my;y. 
c. A rup Mdhy; R vd;gJ jtW   
d. A jtW  Mdhy; R rup 
e. tpil njupatpy;iy 
 

55. Which among the following was not the cause of continuous war between 
Cholas and Chalukyas of Kalyana? 
a. The economic factor  
b. Rivalry between the chalukyas of Kalyana and Chalukyas of Vengi 
c. The geo-political factors   
d. Rivalry to capture South India’s foreign trade with China and South 

eastern Asia 
e. Answer not known 
Nrhou;fSf;Fk;> fy;ahzp rhSf;fpau;fSf;Fk; ,ilNaahd njhlu;r;rpahd 
NghUf;F gpd;tUtdtw;wpy; vJ fhuzky;y? 
a. nghUshjhu fhuzp 
b. fy;ahz rhSf;fpau;fSf;Fk; ntq;fp rhSf;fpau;fSf;Fk; ,ilNaahd 

Nghl;b 
c. Gtp-murpay; fhuzpfs; 
d. rPdh kw;Wk; njd;fpof;F MrpahTldhd njd;dpe;jpahtpd; ntspehl;L 

tu;j;jfj;ijf; ifg;gw;Wtjw;fhd Nghl;b 
e. tpil njhpatpy;iy 
 

56. Match the List I with List II and select the correct using the codes given 
below:- 
List I     List II 
A. Paramars    1. Gujarat 
B. Chalukyas   2. Modern Uttar Pradesh 
C. Senas    3. Bengal 
D. Gahadavalas   4. Malwa 
 A B C D 
a. 4 2 1 3  
b. 1 4 3 2  
c. 3 1 2 4  
d. 4 1 3 2  
e. Answer not known 
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nghUj;Jf 
A. gukhh;fs;    1. F[uhj; 

B. rhSf;fpah;fs;   2. etPd cj;jpugpuNjrk; 

C. Nrdh;fs;    3. tq;fhsk; 
D. f`jthsh;fs;   4. khstk; 
 A B C D 
a. 4 2 1 3  
b. 1 4 3 2  
c. 3 1 2 4  
d. 4 1 3 2  
e. tpil njhpatpy;iy 

 

57. What is the volume of a cube whose diagonal measures 4 3  cm? 

a. 8 cm3 b. 16 cm3 c. 27 cm3 d. 64 cm3 e. Answer not known 

4 3  nr.kP I %iytpl;lkhff; nfhz;l fdrJuj;jpd; fdmsT vd;d? 

a. 8 cm3 b. 16 cm3 c. 27 cm3 d. 64 cm3 e. tpil njhpatpy;iy 
 
58. Match the following  

A. Thagaisal Thamizhar Award 1. Dr.W.B.Vasantha Gandaswamy  
B. A.P.J. Abdul Kalam Award   2. Dr. K. Veeramani 
C. Kalpana Chawla Award for  
Courage and Adventure    3. Narendra Modi  
D. Lokmanya Tilak National Award  4. Na. Muthamilselvi  

A B C D 
a. 2 1 4 3 
b. 1 4 2 3 
c. 2 4 1 3 
d. 1 2 4 3  
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;jTk;; 
A. jifrhy; jkpou; tpUJ  1. lhf;lu;.W. B. tre;jh fe;jrhkp 
B. V. gp. N[. mg;Jy; fyhk; tpUJ 2. lhf;lu;. K. tPukzp 
C. ijupak; kw;Wk; rhfrj;jpw;fhd  
fy;gdh rht;yh tpUJ   3. eNue;jpu Nkhb  
D. Nyhf;kz;ah jpyf; Njrpa tpUJ 4. eh. Kj;jkpo;nry;tp 

A B C D 
a. 2 1 4 3 
b. 1 4 2 3 
c. 2 4 1 3 
d. 1 2 4 3 
e. tpil njupatpy;iy 
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59. Choose the correct statement about Corporate Social Responsibility (CSR) 
is applicable to companies with  
1. Net worth of Rs. 500 crore or more  
2. Turnover of Rs. 1000 crore or more  
3. Net profit of Rs. 5 crore or more  
a. 1, 2   b. 2, 3  c. 1, 3  d. 1, 2 3   e. Answer not known 
fhu;g;gNul; r%fg; nghWg;G (CSR) gw;wpa rupahd mwpf;ifiaj; 
Nju;Tnra;Ak; epWtdq;fSf;fhd 
1. epfu kjpg;G &. 500 Nfhb my;yJ mjw;F Nky; 
2. tpw;gid msT &. 1000 Nfhb my;yJ mjw;F Nky; 
3. epfu yhgk; &. 5 Nfhb my;yJ mjw;F Nky; 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3    c. 1> kw;Wk; 3 
d. 1> 2 kw;Wk; 3    e. tpil njupatpy;iy 

 
60. The Chapter undaunted in the council is __________ 

a. 63  b. 68  c. 73  d. 62  e. Answer not known 
mit mQ;rhikapd; mjpfhu vz; ______ 
a. 63  b. 68  c. 73  d. 62  e. tpil njhpatpy;iy 

 
61. Chapter 75 is __________ 

a. Greatness   b. The Fortification  c. The Land 
d. None of these  e. Answer not known 
mjpfhu vz; 74 __________ 
a. ngUik   b. muz;    c. ehL 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

62. Who, among the following Mughul emperors hung a chain with bells 
outside his palace to call him by the people for grant of justice? 
a. Akbar   b. Jahangir   c. Shah Jhan   
d. Aurangzeb  e. Answer not known 
fPo;f;fz;l Kfyhag; Nguurh;fspy; kf;fs; ePjp NfhUtjw;F Vw;w tifapy; 
jd; muz;kidf;F ntspNa Muha;r;rp kzp mikj;jth; ahh;? 
a. mf;gh;   b. [`hq;fPh;   c. ~h[fhd; 

d. mTuq;frPg;  e. tpil njhpatpy;iy 
 

63. The area known as Aryavartha is 
a. The area between Suvat and Punjab  b. The Gangetic plain 
c. Sindhu Suvat plain     d. Baluchistan 
e. Answer not known 
Mhpa th;j;jk; vd;W miof;fg;gl;l gFjp _________ 
a. Rthl;> gQ;rhgpw;F ,ilg;gl;l gFjp   b. fq;ifr; rkntsp 
c. rpe;J> Rthl; gs;sj;jhf;F    d. gYrp];jhd; 
e. tpil njhpatpy;iy 
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64. Match the following 
A. Tukaram    1. Executed by Aurangzeb 
B. Guru Ramdas   2. Compilation of Adi Granth 
C. Guru Arjun Dev  3. Founded city of Amristar 
D. Guru Teg Bahadur  4. Devotional songs 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 3 1 4 2 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf 
A. Jfhuhk;    1. xsuq;frPg;ghy; nfhy;yg;gl;lth; 

B. FU uhk;jh];   2. Mjp fpue;jk; vd;w E}iyj; njhFj;jth; 

C. FU mh;[{d; Njt;  3. mkph;jru]; efiu epWtpath; 
D. FU Nj[; gfJ}h;  4. gf;jp Njhj;jpu ghly;fSf;F Gfo; 
ngw;wth; 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 3 1 4 2 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

65. The person who made the invasion of Madurai 
a. Kumara Kambanna  b. Ganga Devi c. Krishna Deva Raya 
d. None of these   e. Answer not known 
kJuhtp[ak; E}ypy; Fwpg;gplg;gl;l kJiug; gilnaLg;ig epfo;j;jpath; 
a. Fkhu fk;gzh;   b. fq;fhNjtp c. fpU~;z Njtuhah; 
d. ,tw;wpy; vJTkpy;iy  e. tpil njhpatpy;iy 
 

66. Identify the wrong statement  
 a. Vijayalaya Chola established his capital at Tanjore 
 b. Rajendra I shifted the capital to Gangai KondaChola puram 
 c. Kulottunga Chola shifted the capital to Kalyani 
 d. Rajaraja III shifted the capital to Darasuram 

e. Answer not known 
 jtwhd thf;fpaj;ijf; fz;Lgpb 
 a. tp[ahya Nrhod; jQ;rht+hpy; jiyefiu cUthf;fpdhd; 

b. Kjyhk; ,uhNre;jpu Nrhod; fq;if nfhz;l NrhoGuj;jpw;F jiyefiu 
khw;wpdhd; 

 c. Kjyhk; FNyhj;Jq;fd; fy;ahzpf;Fj; jiyefiu khw;wpdhd; 
 d. %d;whk; uh[uhrd; jhuhRuj;jpw;F jiyefiu khw;wpdhd; 
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 e. tpil njhpatpy;iy 
 
67. If the curved surface area of a right circular cylinder is 704 sq.cm and 

height is 8 cm, find the volume of the cylinder. 
a. 5048 cm3   b. 4928 cm3   c. 5442 cm3  
d. 4864 cm3   e. Answer not known 
xU Neh;tl;l cUisapd; tisgug;G 704 r.nr.kP kw;Wk; mjd; cauk; 8 
nr.kP vdpy; mt;TUisapd; fd msit fhz;f. 
a. 5048 cm3   b. 4928 cm3   c. 5442 cm3  
d. 4864 cm3   e. tpil njhpatpy;iy 

 
68. The stone inscriptions helping us to know about the old tamil brahmi 

letter 
a. Hathigumba inscriptions b. Chinnamanur inscriptions 
c. Kalugumalai inscriptions d. Thirukoviloor inscriptions 
e. Answer not known 
goq;fhyj; jkpo; gpuhkp vOj;Jf;fisg; gw;wp mwpe;J nfhs;s cjTtJ 
__________ 
a. mjpFk;gh fy;ntl;L  b. rpd;dkD}h; fy;ntl;L 

c. fOF kiyf;fy;ntl;L  d. jpUf;NfhtpY}h; fy;ntl;L 

 e. tpil njhpatpy;iy 
 
69. Match the following 

List I (Chola Rulers)  List II (Titles) 
A. Rajaraja I    1. Sungam thavirtha Chola 
B. Rajendra I   2. Vallabha Vallabha 
C. Vira Rajendra I   3. Kadarangonda 
D. Kulothunga I   4. Sivapadhasekara 
 A B C D 
a. 1 2 4 3 
b. 3 1 4 2 
c. 4 3 1 2 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf 
gl;bay; I     gl;bay; II 
Nrho kd;dh;fs;    gl;lg;ngah;fs; 
A. Kjyhk; ,uh[uh[d;   1. Rq;fk; jtph;j;j Nrhod; 
B. Kjyhk; ,uhN[e;jpud;   2. ty;ygty;ygd; 

C. Kjyhk; tPuuhN[e;jpud;  3. flhuq;nfhz;lhd; 

D. Kjyhk; FNyhj;Jq;fd;  4. rptghjNrfud; 
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A B C D 
a. 1 2 4 3 
b. 3 1 4 2 
c. 4 3 1 2 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

70. Match the following 
List I (Age)   List II (Art Style) 
A. Kushanas  1. Dravidan Style 
B. Guptas   2. Vesara style 
C. Chalukyas  3. Nagara style 
D. Cholas   4. Gandhara Art style 
 A B C D 
a. 4 3 2 1 
b. 4 2 1 3 
c. 3 2 1 4 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf 
fhyk;    fiyghzp 
A. F~hzh;fs;  1. jpuhtpl ghzp 
B. Fg;jh;fs;   2. Ntruh ghzp 

C. rhSf;fpah;fs;  3. efuh ghzp 
D. Nrhoh;fs;   4. fhe;jhuf; fiy ghzp 
 A B C D 
a. 4 3 2 1 
b. 4 2 1 3 
c. 3 2 1 4 
d. 3 1 2 4 

 e. tpil njhpatpy;iy 
 

71. Which among the given statements is correct? 
a. Paleolithic people   - agriculturist 
b. Mesolithic people   - food producers 
c. Neolithic people   - food gatherers 
d. Chalcolithic people   - urban classified 
e. Answer not known 
rhpahd thf;fpaj;ijf; fz;lwpf. 
a. gioa fw;fhy kf;fs;  - tptrhak; nra;jdh; 
b. eLfw;fhy kf;fs;  - czT jahhpg;gth;fs; 

c. Gjpa fw;fhy kf;fs;  - czT Nrfhpg;gth;fs; 
d. nrk;G fhy kf;fs;  - efh;g;Gw tifg;ghl;lhsh;fs; 

 e. tpil njhpatpy;iy 
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72. Match the following : 

Upaveda     About 
 A. Gandharva Veda   1. Architecture 
 B. Dhanur Veda    2. Medicine 
 C. Shilpa Veda    3. Archery 
 D. Ayur Veda    4. Art of Music 
  A B C D  
 a. 1 2 3 4 
 b. 2 1 3 4  
 c. 4 3 1 2 
 d.      4 3 2 1 
 e. Answer not known 
 nghUj;Jf. 
 cgNtjk;    vijg; gw;wpaJ? 

A.  fhe;jh;t Ntjk;   1. fl;blf; fiy 
B. jDh; Ntjk;   2. kUj;Jtk; 
C. rpy;g Ntjk;   3. tpy;tpj;ij  
D. MAh; Ntjk;   4. ,irf; fiy 

  A B C D  
 a. 1 2 3 4 
 b. 2 1 3 4  
 c. 4 3 1 2 
 d.       4 3 2 1 
 e. tpil njhpatpy;iy 

73. Who is the first woman to reach the rank of Major General in the Military 
Nursing service  
a. Ignatius Delos Flora   b. Fathima Beevi   c. Babitha Punya  
d. Shivangi Singh    e. Answer not known 
,uhZt nrtpypau; Nritapy; Nk[u; n[duy; gjtpia mile;j Kjy; 
ngz; ahu;? 
a. ,f;Nd~pa]; nlNyh]; /g;Nshuh    b. ghj;jpkh gPtp  
c. ggpjh Gz;ah       d. ~pthq;fp rpq;  

e. tpil njupatpy;iy 
 
74. How many pairs are correctly matched?  

1. Miss Diva Universe 2023   – Shweta Sharda  
2. Miss Diva Supranational 2023  – Sonal Kukreja  
3. Miss Earth India 2023   – Priyan Sain  
4. Prime Minister of Thailand  – Srettha Thavisin  
a. one pair    b. Two pairs   c. Three pairs   
d. Four pairs   e. Answer not known 
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gpd;tUtdtw;wpy; vj;jid ,izfs;  rupahfg; nghUe;Jfpd;wd? 
1. kp]; jpth Adptu;]; 2023  – ];Ntjh ~u;jh 
2. kp]; jpth Rg;uhNe~;dy; 2023  – Nrhdy; Ff;Nu[h  
3. kp]; vu;j; ,e;jpah 2023  – gpupahd; ird;  
4. jha;yhe;J gpujku;  – ];Nuj;jh jtprpd; 
a. xU ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs;  
d. ehd;F ,izfs; e. tpil njupatpy;iy 

 
75. Alberuni’s Kitab-ul-Hind is: 

1. A sympathetic study of Indian Civilization 
2. Mainly a political history of India 
3. Critical of Mahmeud Ghaznavi’s plundering raids of India 
4. Mainly a study of India’s cultural, social and intellectual history 
Which of the above ststement(s) is / are correct? 
a. 1, 3 and 4   b. 1 and 4    c. 2 and 3 
d. 4 alone   e. Answer not known 
my;ng&dpapd; fpjhg;-cy;-`pe;j; vd;gJ 
1. ,e;jpa ehfhpfk; Fwpj;j Ma;T 
2. ,e;jpa murpay; tuyhW Fwpj;j Ma;T 
3. k`;%j; f];dtp ,e;jpahtpy; nfhs;isabj;jij tpsf;Ffpwhh;  
4. ,e;jpahtpd; fyhr;rhu> r%f kw;Wk; mwpTrhu; tuyhW gw;wpa Ma;T 
rhpahd $w;Wfis fz;lwpf 
a. 1> 3 kw;Wk; 4  b. 1 kw;Wk; 4   c. 2 kw;Wk; 3 
d. 4 kl;Lk;   e. tpil njhpatpy;iy 
 

76. Find the sum of the following  
a. 1240 b. 1420 c. 24525 d. 25425 e. Answer not known 
gpd;tUk; njhlhpd; $Ljiyf; fhz;f. 1 + 4 + 9 + 16 + … + 225  
a. 1240 b. 1420 c. 24525 d. 25425 e. tpil njhpatpy;iy 
 

77. The Muslim conqueror who continued to issue coins with the figure of a 
Hindu Goddes was 
a. Qutubuddin Aibak b. Babur   c. Mohammed Ghori 
d. Mahmud Ghaznavi e. Answer not known  
,e;J flTs;fspd; cUtk; nfhz;l ehzaq;fis njhlu;e;J ntspapl;l 
K];yPk; kd;du; ahu; ? 
a. FJGjPd; Igf;   b. ghgu;    c. KfkJ Nfhup  

d. k`;%j; f];dtp e. tpilnjupatpy;iy 
 

78. Who among the following Sultans of Delhi favoured rotation of corps? 
a. Balban      b. Alauddin Khalji  
c. Muhammad Bib Tughlug   d. Firuz Shah Tughlug  
e. Answer not known 
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gapu; Row;rp Kiwia Mjupj;j nly;yp kd;du; ahu;?  
a. ghy;gd;    b. myhTjPd; fy;[p  c. K`k;kJ gpg; Jf;sf;  

d. /gp&]; ~h Jf;sf; e. tpilnjupatpy;iy 
 
79.  Choose the correct pair  

1. FIDE chess world cup 2023 winner  – Magnus carlsen  
2. Asian champions Trophy Hockey 2023 – Malaysia (Winner)  
3. India’s number one Chess Player  – R. Praggnanandhaa  
4. World Athletics championship 2023  – Budapest, Hungary  
a. 1, 2  b. 2, 3  c. 1, 4   d. 2, 4  e. Answer not known 
gpd;tUtdtw;wpy; rupahd ,iziaj; Nju;e;njLf;fTk; : 
1. FIDE nr]; cyff; Nfhg;ig 2023 ntw;wpahsu; - Nkf;d]; fhu;y;rd;  
2. Mrpa rhk;gpad;]; buhgp `hf;fp 2023  - kNyrpah (ntw;wpahsu;)  
3. ,e;jpahtpd; ek;gu; xd; nr]; tPuu;  - Mu;. gpuf;Qhde;jh  
4. cyf jlfs rhk;gpad;~pg; 2023  - Glhng];l;> `q;Nfup 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3    c. 1 kw;Wk; 4  
d. 2 kw;Wk; 4  e. tpil njupatpy;iy 

 
80. Which one of the following is not mentioned by Valluvar to make a land? 

a. River water  b. Fountain water   c. Rain 
d. Forest   e. Answer not known 
gpd;tUtdtw;Ws; ehl;bd; cWg;Gfshf ts;Sth; Fwpg;gplhjJ vJ? 
a. Mw;WePh;   b. Cw;WePh;    c. kio 
d. fhL   e. tpil njhpatpy;iy 

 
81. According to learned what four makes a fortress? 

a. Height, breath, length, strength 
b. Height, breath, strength, inaccessibility 
c. Height, breath, strength, length 
d. Height, breath, length, water 
e. Answer not known 
E}Nyhh; muZf;Fj; Njitahd ehd;F vd vjidf; $Wth;? 
a. cah;T> mfyk;> ePsk;> jplk;  b. cah;T> mfyk;> jplk;> mUik 
c. cah;T> mfyk;> jplk;> ePsk;  d. cah;T> mfyk;> ePsk;> ePh; 

a. tpil njhpatpy;iy 
 

82. Choose the correct statements 
1. The Later Vedic Period is 1000 – 600 BC 
2. The Allahabad Pillar Inscription consists of 33 lines in Sanskrit 

composed by Samudra Gupta 
a. 1 only   b. 2 only   c. Both 
d. None   e. Answer not known 
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rhpahd $w;iwj;Njh;f 
1. gpd; Ntjfhy kf;fspd; fhyk; 1000 – 600 B.C 
2. rk];fpUj nkhopapy; 33 thpfisf; nfhz;l myfhghj; J}z; 

fy;ntl;Lf;fis ,aw;wpaJ rKj;jpu Fg;jh; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. ,uz;Lk; 

d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

83. Choose the correct statements 
1. Iltutmish was the first Turkish ruler to introduce a purely Arabic 

Coinage 
2. Muhammad Gawan was the Minister of Muhammad Shah II 
a. 1 only   b. 2 only    c. Both 
d. None   e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. J}a mNugpa ehza Kiwia mwpKfk; nra;j nly;yp Ry;jhd; 

,y;Jj;kp~; Mthh; 
2. KfkJ fthd; murh; ,uz;lhk; KfkJ ~htpw;F mikr;ruhf ,Ue;jhh; 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. ,uz;Lk; 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 
84. Match the following 
 A. Qutab Minar  1. Mohammed Adil Shah 
 B. Gol Gumbaz  2. Iltutmish 
 C. Bulan Darwaza  3. Aurangzeb 
 D. Moti Masjid  4. Jahangir 
     5. Akbar 
  A B C D 
 a. 2 4 5 1 
 b. 2 1 5 3 
 c. 4 3 2 5 
 d. 5 1 3 4 

e. Answer not known 
  nghUj;Jf 
 A. FJg;kpdhh;  1. Kfk;kJ mby; ~h 
 B. Nfhy; Fk;gh];  2. ,y;Ll;kp~; 

 C. Gye;jh;thrh  3. mTuq;frPg; 
 D. Nkhjp k];[pj;  4. [`hq;fPh;   
     5. mf;gh; 
  A B C D 
 a. 2 4 5 1 
 b. 2 1 5 3 
 c. 4 3 2 5 
 d. 5 1 3 4 
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 e. tpil njhpatpy;iy 

85. Find the sum 3 + 1 + 
1

3
+ …∞ 

a. 
3

2
  b. 

4

3
  c. 

9

2
  d. 

1
2

2
  e. Answer not known 

3 + 1 + 
1

3
+ …∞ vd;w njhlupd; $Ljy; fhz;f. 

a. 
3

2
  b. 

4

3
  c. 

9

2
  d. 

1
2

2
  e. tpil njhpatpy;iy 

 

86. The Bakti movement in south India started during 
a. From BC Third Century to AD Third Century 
b. From BC Third Century to AD Sixth Century 
c. From AD Seventh Century to AD Twelfth Century 
d. From AD Ninth Century to AD fourteenth Century 
e. Answer not known 
njd;dpe;jpahtpy; gf;jp ,af;fk; Njhd;wpa fhyfl;lk; ______________ 
a. fp.K.3Mk; E}w;whz;L Kjy; fp.gp.3Mk; E}w;whz;L tiu 
b. fp.gp.3Mk; E}w;whz;L Kjy; fp.gp.6Mk; E}w;whz;L tiu 
c. fp.gp.7Mk; E}w;whz;L Kjy; fp.gp.12Mk; E}w;whz;L tiu 
d. fp.gp.9Mk; E}w;whz;L Kjy; fp.gp14Mk; E}w;whz;L tiu 
e. tpil njhpatpy;iy 

 

87. Which Achaeminian ruler enlisted Indian soldiers to fight against 
Alexander? 
a. Darius I   b. Cambyses  c. Xerxes   
d. Darius III  e. Answer not known 
mnyf;]hz;lUf;F vjpuhfg; Nghhpl ,e;jpa tPuh;fisj; jpul;ba 
mf;fhNkdpa murh; ahh;? 
a.  Nlhpa]; I  b. Nfk;igrp];  c. nrh;nrf;r];   
d. Nlhpa]; III  e. tpil njhpatpy;iy 
 

88. Which department was created by Firoz Tughlaq to help orphans and 
widows? 
a. Diwan-i-Khairat b. Diwan-i-Kohi  c. Diwan-i-Rasalat 
d. Diwan-i-Ariz  e. Answer not known 
mdhijfisAk;> tpjitfisAk; guhkhpf;f gpNuh]; Jf;sf; ve;jj; 
Jiwia cUthf;fpdhh;? 
a. jpthd;-I-ifuhl;  b. jpthd;-I-Nfh`p  c. jpthd;-I-u]hyj; 

d. jpthd;-I-mhp];  e. tpil njhpatpy;iy 
 

89. Which one of the following is incorrectly matched? 
a. Ibn Battuta  - Morocco 
b. Nicolo de Conti  - Venice     
c. Abdul Razzak  - Persia    
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d. Domingo Paes  - France 
e. Answer not known 
fPo;f;fz;ltw;Ws; vJ rhpahf nghUe;jtpy;iy? 
a. ,gd; gJ}jh   - nkhNuhf;fh    
b. epf;NfhNyh b Nfhz;b  - ntdp];    
c. mg;Jy; urhf;   - ghurPfk;    

d. Nlhkpq;Nfh ga];   - gpuhd;R 
e. tpil njhpatpy;iy 
 

90. Who was known as Amitrochates? 
a. Bindusara  b. Iltutmish    c. Samudra Gupta 
d. Vikramaditya  e. Answer not known  
mkpj;Nuhfl]; vd mwpag;gl;lth; ahh;?  
a. gpe;Jrhuh;   b. ,y;J];kp~;  c. rKj;jpuFg;jh; 

d. tpf;fpukhjpj;jh;  e. tpil njhpatpy;iy 
 
91. Who among them was/were the Greek ambassador sent to court of 

pataliputra? 
1. Megasthenese 2. Herodotus 3. Deimachus 4. Dionysios 
a. 1 only   b. 1, 2, 3   c. 1, 3 and 4   
d. 2 and 4   e. Answer not known 
fPNo Fwpg;gpl;lth;fspy; fpNuf;f ehl;bd; J}Jtuhf ghlypGj;jpuj;jpw;F 
te;jth; / te;jth;fs; ahh;? 
1. nkf];jdP]; 2. n`uNlhl]; 3. nla;NkNfh]; 4. lNahidrpNah]; 
a. 1 kl;Lk;   b. 1, 2, 3   c. 1, 3 kw;Wk; 4  
d. 2 kw;Wk; 4   e. tpil njhpatpy;iy 
 

92. What type of Sampradaya of Vaishnavism was propagated by Ramanuja? 
a. Shri Sampradaya     b. Brahma Sampradaya  
c. Rudra Sampradaya    d. Sanakadi Sampradaya 
e. Answer not known 
uhkhD[h; it~;zt rkaj;jpd; ve;j tif rk;g;ujhaq;fis Nghjpj;jhh;? 
a. =rk;g;ujhak;     b. gpuk;k rk;g;ujhak;  
c. Uj;urk;g;ujhak;      d. rdhfjp rk;g;ujhak; 

 e. tpil njhpatpy;iy 

93. Choose the correct statement  
1. The spot where the Chandrayaan – 3 Vikram lander made a soft 

landing would be named “Shiv shakti Point”  
2. The site where the Chandrayaan – 2 Lander Crash landed on the Moon 

Surface in 2019 would be known as “Tiranga” 
3. August 23, the day the Chandrayaan – 3 lander touched down on the 

Lunar surface would be celebrated as “National Space Day”  



 

33 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

a. 1, 2   b. 2, 3  c. 1, 3   d. 1, 2, 3  e. Answer not known 
gpd;tUtdtw;wpy; rupahd mwpf;iffisj; Nju;e;njLf;fTk; : 
1. re;jpuahd; - 3 tpf;uk; Nyz;lu; jiuapwq;fpa ,lj;jpw;F “rpt rf;jp 

Gs;sp" vd;W ngauplg;gLk;. 
2. re;jpuahd; - 2 Nyz;lu; 2019 ,y; epytpd; Nkw;gug;gpy; Nkhjpa  ,lk; 

“jpuq;fh" vd;W miof;fg;gLk;. 
3. re;jpuahd; 3 tpz;fyk; epytpd; Nkw;gug;gpy; jiuapwq;fpa Mf];l; 23 

Mk; Njjp> Njrpa tpz;ntsp jpdkhf nfhz;lhlg;gLfpwJ. 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3    c. 1 kw;Wk; 3 
d. 1> 2 kw;Wk; 3   e. tpil njupatpy;iy 

 
94. Which mission was the first dedicated Indian space mission for 

observations of the sun? 
a. Aditya – L1   b. Aditya – L2   c. Aditya – L3 
d. Aditya – L4   e. Answer not known 
R+upaidf; fz;fhzpg;gjw;fhf mu;g;gzpf;fg;gl;l Kjy; ,e;jpa tpz;ntspj; 
jpl;lk; vJ? 
a. Mjpj;ah – vy;1  b. Mjpj;ah – vy;2  c. Mjpj;ah – vy;3  

d. Mjpj;ah – vy;4 e. tpil njupatpy;iy 
 

95. Which one of the following combinations indicates the correct 
chronological order of the medival historical figures? 
a. Gulbadan Begum, Chand Bibi, Jahan Ara, Raziya Sultan 
b. Jahan Ara, Chand Bibi, Gulbadan Begum, Raziya Sultan 
c. Raziya Sultan , Gulbadan Begum, Chand Bibi, Jahan Ara,  
d. Chand Bibi, Raziya Sultan, Gulbadan Begum, Jahan Ara 
e. Answer not known  
,ilf;fhy tuyhw;W egu;fspd; rupahd fhytupiria fz;lwpaTk;? 
a. Fy;gjd; Ngfk;> re;j; gPgp> [`hd; Muh> urpah Ry;jhd;  
b. [`hd; Muh> re;j; gPgp> Fy;gjd; Ngfk;> urpah Ry;jhd;  
c. urpah Ry;jhd; > Fy;gjd; Ngfk;> re;j; gPgp> [`hd; Muh 

d. re;j; gPgp> urpah Ry;jhd;> Fy;gjd; Ngfk;> [`hd; Muh 
e. tpilnjupatpy;iy 
 

96. Assertion (A): According to the foreign traveller paes the Devdasis, 
    held a highly respectable position in the Vijayanagar 
    society. 
Reason(R):  The Devadasi system of offering dancing girls to the 
    temples in south india came into existence for the first 
    time under the Vijayanagar rulers.  
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is the not a correct explanation of A 
c. A is true but R is false 
d. A is false but R is true 
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e. Answer not known 
$w;W (A): ntspehl;Lg; gazp Ng]pd; $w;Wg;gb> tp[aefu rKjhaj;jpy; 
   Njtjhrpfs; kpfTk; kupahijf;Fupa gjtpapy; ,Ue;jdu;. 
fhuzk; (R): njd;dpe;jpahtpy; cs;s Nfhtpy;fSf;F eldkhLk; ngz;fis 
   toq;Fk; Njtjhrp Kiw tp[aefu Ml;rpahsu;fspd; fPo; 
   Kjy; Kiwahf eilKiwf;F te;jJ. 
a. A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk;. 
b. A kw;Wk; R ,uz;Lk; rup kw;Wk; R vd;gJ A ,d; rupahd tpsf;fk; 
my;y. 
c. A rup Mdhy; R vd;gJ jtW   
d. A jtW  Mdhy; R rup 
e. tpilnjupatpy;iy 
 

97. Kannan on seeing a boy said, that, he is the son of his father’s only son, 
Who is Kannan to that boy? 
a. Son    b. Grand Son   c. Grand Father   
d. Father    e. Answer not known 
xU igaidg; ghh;j;J fz;zd;> ,td; vd; je;ijapd; xNu kfdpd; kfd; 
vd;W $wpdhh; vdpy; fz;zd; me;jg; igaDf;F vd;d Ntz;Lk;? 
a. kfd;   b. Ngud;   c. ghl;ld; 
d. je;ij   e. tpil njhpatpy;iy 

 
98. Who among the following were the sons and grandson of Bahadur Shah-

II and played a prominent role in rebellion of 1857, and were captured 
and shot? 
a. Bakht khan, Ahsahullah Khan and Mabbub Ali 
b. Mirza Moghut, Mirza khawaja Sultan and Mirza Abu Bakr 
c. Prince Azam, Azim-ush-Shan and Muazzam 
d. Asad Khan, Azim-ush-shan and Muazzam 
e. Answer not known 
gpd;tUtdtw;wpy; 1857 fpsu;r;rpapy; Kf;fpa gq;F tfpj;J ifJ 
nra;ag;gl;L Rl;Lf; nfhy;yg;gl;l ,uz;lhk; gfJ}u; ~h ,d; kfd;fSk; 
NguDk; ahtu;? 
a. gf;j; fhd;> m`;rhYy;yh fhd; kw;Wk; kg;Gg; myp  
b. kpu;rh nkhFj;> kpu;rh fth[h Ry;jhd; kw;Wk; kpu;rh mG gf;fu;  
c. ,sturu; Mrhk;> mrpk;-c~;-~hd; kw;Wk; nks];]hk;    
d. Mrhj; fhd;> mrpk;-c~;-~hd; kw;Wk; nks];]hk;   
e. tpilnjupatpy;iy 

 
99. Which one of the following statements correctly defines the term Hindu 

Pad-padshahi? 
a. Maratha Swarjaya b. Maratha Empire c. Maratha imperialism 
d. Hindu Swarajya e. Answer not known 
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gpd;tUk; $w;Wfspy; vJ ,e;J gl;-ghl;~h`p vd;w nrhy;iy rupahf 
tiuaWf;fpwJ 
a. kuhl;ba Rauh[;[pak;     b. kuhl;bag; NguuR  
c. kuhl;ba Vfhjpgj;jpak;    d. ,e;J Rauh[;[pak;  

e. tpilnjupatpy;iy 
 

100. Match the following:  
A. World Elephant Day     1. August 13  
B. World Organ Donation Day    2. August 29 
C. World Senior Citizen Day    3. August 12 
D. National Sports Day     4. August 21  
 A B C D 
a. 1 4 3 2 
b. 1 3 2 4 
c. 3 1 4 2 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf 
A. cyf ahidfs; jpdk;    1. Mf];l; 13  

B. cyf cly; cWg;Gfs; jhd jpdk;  2. Mf];l; 29  

C. cyf KjpNahu;fs; jpdk;    3. Mf];l; 12  
D. Njrpa tpisahl;L jpdk;    4. Mf];l; 21 

A B C D 
a. 1 4 3 2 
b. 1 3 2 4 
c. 3 1 4 2 
d. 3 1 2 4 
e. tpil njupatpy;iy 

 
101. enaimaatchith thaakiyak kaNNum vinaimaatchi 

illaarkaN illadhu araN 
In this Kural what is the meaning of the term vinaimaatchi? 
a. Excellence of action     b. Modes of Action 
c. way accumulating wealth    d. purity in action 
e. Answer not known 
gpd;tUk; Fwspy; tpidkhl;rp vd;gjd; nghUs; ahJ? 
vidkhl;rpj; jhfpaf; fz;Zk; tpidkhl;rp 
,y;yhh;fz; ,y;yJ muz; 
a. nray; jpwd;  b. nray; tif  c. nghUs; nray;tif 
d. tpidj; J}a;ik e. tpil njhpatpy;iy 
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102. According to Thiruvalluvar, _______ are the best qualities of the army 
1. valor    2. honour 
3. behaving the best way  4. Trust-worthiness 
5. war injury     
a. 1, 3, 5    b. 1, 2, 4, 5    c. 1, 2, 3, 4   
d. 1, 2, 3, 4, 5   e. Answer not known 
gilf;Fhpa rpwe;j gz;Gfshf jpUts;Sth; $WtJ ahJ?  
1. kwk;     2. khdk;  
3. rpwe;j topapy; elj;jy; 4. jiytuhy; ek;gp njspag;gLjy;  
5. tpOg;Gz; gLjy;  
a. 1, 3, 5    b. 1, 2, 4, 5    c. 1, 2, 3, 4   
d. 1, 2, 3, 4, 5   e. tpil njhpatpy;iy 
 

103. If “GIVE” is coded as 5137 and “BAT” is coded as 924. How is “GATE” 
coded? 
a. 2547 b. 5247 c. 5427 d. 5724 e. Answer not known 
“GIVE” vd;gjd; FwpaPL 5137 kw;Wk; “BAT”  vd;gjd; FwpaPL 924 vdpy; 
“GATE”  vd;gJ vg;gb Fwpf;fg;gLk;? 
a. 2547 b. 5247 c. 5427 d. 5724       e. tpil njhpatpy;iy 
 

104. Who was the Poet responsible for the release of Cheran Kanaikkal 
Irumporai from the Chola Prison? 
a. Poigaiyar   b. Avvaiyar   c. Kakkai Padiniyar 
d. Nakkirar   e. Answer not known 
Nrud; fizf;fhy; ,Uk;nghiwia Nrhoh; rpiwapypUe;J kPl;f cjtpaha; 
,Ue;j Gyth; ahh;? 
a. ngha;ifahh;  b. xsitahh;  c. fhf;if ghbdpahh; 
d. ef;fPuh;   e. tpil njhpatpy;iy 
 

105. Which historical monument in Delhi is a synthesis of Persian and Indian 
styles of architectures? 
a. Qutub Minar  b. Lodi’s Tomb  c. Humayun’s Tomb 
d. Red Fort   e. Answer not known 
nly;ypapy; cs;s ve;j tuyhw;W epidTr;rpd;dk; ghurPf kw;Wk; ,e;jpa 
fl;blf;fiyfspd; njhFg;G MFk;? 
a. FJg;kpdhh;  b. Nyhbapd; fy;yiw c. `pkha+dpd; fy;yiw 

d. nrq;Nfhl;il  e. tpil njhpatpy;iy 
 

106. Which of the following statements are associated with the Sangam Age in 
South Indian history? 
1. The whole of South India was politically unified. 
2. Successive assemblies of the Tamil poets were held at Madurai. 
3. Several anthologies of Tamil poems were compiled. 
4. Buddhism rose to the position of pre-eminence in South India. 
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a. 1 and 2   b. 2 and 3    c. 1, 3 and 4  
d. 1, 2, 3 and 4  e. Answer not known 
fPo;f;fz;l $w;Wfspy; vit njd;dpe;jpa tuyhw;wpd; rq;ffhyj;Jld; 
njhlh;Gilait? 
1. njd;dpe;jpah KOtJk; murpay; hPjpahf xd;Wgl;L ,Ue;jJ 
2. jkpo;Gyth;fspd; njhlh;r;rpahd $l;lq;fs; kJiuapy; eilngw;wd 
3. jkpo; ftpijfspd; gy E}y;fs; njhFf;fg;gl;Ls;sd 
4. njd;dpe;jpahtpy; Gj;j rkak; Kd;dpiyg; ngw;wJ 
a. 1 kw;Wk; 2  b. 2 kw;Wk; 3    c. 1> 3 kw;Wk; 4 
d. 1> 2> 3 kw;Wk; 4 e. tpil njhpatpy;iy 
 

107. Match the following 
A. Khajuraho   1.  Vijayanagar 
B. Konark Temple   2.  Pallavas 
C. Mahabalipuram  3.  Pratiharas 
D. Hampi Monument  4.  Chandellas 
 A B C D 
a.   4 3 2 1 
b.   4 2 3 1 
c.   3 4 2 1 
d.   3 1 2 4 
e. Answer not known 
nghUj;Jf 
A. f[{uhN`h  1. tp[aefuk; 
B. Nfhdhh;f; Nfhapy;; 2. gy;yth;fs; 

C. kfhgypGuk;  3. gpujpfhuh;fs; 
D. `k;gp rpd;dk;  4. re;Njyh;fs; 

 A B C D 
a.   4 3 2 1 
b.   4 2 3 1 
c.   3 4 2 1 
d.   3 1 2 4 
e. tpil njhpatpy;iy 

 
108. Which of the following statements about the society of the Sangam Age 

are not true? 
1. Brahmins emerged as a regular Varna. 
2. They abstained from eating meat and drinking wine. 
3. There were regular varnas of Kshatriyas and Vaishyas. 
4. The ruling class could come from only the Kshatriyas. 
a. 2, 3 and 4   b. 1 and 2    c. 2 and 3 
d. All of them  e. Answer not known 
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gpd;tUtdtw;Ws; vit rq;ffhy rKjhak; gw;wpa jtwhd $w;Wfs; 
MFk;? 
1. me;jzh;fs; tof;fkhd th;zkhf cUthdhh;fs; 
2. mth;fs; khkprk; cz;gijAk; jpuhl;ir gourj;ij Fbg;gijAk; 

jtph;j;jdh; 
3. rj;jphpah;fs; kw;Wk; itrpah;fs; tof;fkhd th;zh;fshf ,Ue;jdh; 
4. MSk; gphptpdh; rj;jphpah;fspypUe;Nj te;jdh; 
a. 2> 3 kw;Wk; 4  b. 1 kw;Wk; 2  c. 2 kw;Wk; 3 
d. midj;Jk;  e. tpil njhpatpy;iy 
 

109. While Megasthenes was the first foreigner to make a mention of the 
Pandyas, a grammarian of the fourth century BC who was probably a 
southerner was the first Indian to make a mention of the Pandya, Chola 
and Chera Kingdoms.  Who was he? 
a. Panini   b. Patanjali   c. Bavari   
d. Katyayana  e. Answer not known 
ghz;bah;fisg; gw;wp Fwpg;gpl;l Kjy; ntspehl;ltu; nkf];jdp]; vdpy;> 
fpK ehd;fhk; E}w;whz;bd; ,yf;fzg; gilg;ghspahd njd;dpe;jpahitr; 
Nrh;e;j xUth; ghz;ba> Nrho kw;Wk; Nru muRfisg; gw;wp Fwpg;gpl;Ls;shh;. 
mth; ahh;? 
a. ghzpdp   b. gjQ;ryp   c. ghthp   
d. fj;ahazh;  e. tpil njhpatpy;iy 
 

110. The circumference of a circular park is 352 m. Find the area of the park. 
a. 8956 m2  b. 448 m2    c. 1452 m2  
d. 9856 m2  e. Answer not known 
xU tl;l tbtg; G+q;fhtpd; Rw;wsT 352 kP> vdpy; G+q;fhtpd; gug;gsT 
fhz;f. 
a. 8956 kP2  b. 448 kP2    c. 1452 kP2  
d. 9856 kP2  e. tpil njupatpy;iy 
 

111. Consider the following statements 
Assertion (A): Some Pallava grants prohibited the entry of the royal  
                             officers in the granted village. 
Reason (R):  The granted villages were directly administered by the 
    king. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, but (R) is not the correct explanation of (A). 
c. A is true, but (R) is false. 
d. A is false, but (R) is true. 
e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f 
$w;W (A): rpy gy;yt khdpaq;fs; mq;fPfhpf;fg;gl;l fpuhkj;jpy; muR 
   mjpfhhpfs; Eiotij jil nra;jJ 
fhuzk; (R): mq;fPfhpf;fg;gl;l fpuhkq;fs; muruhy; Neubahf 
   eph;tfpf;fg;gl;ld 
a. (A) kw;Wk; (R) rhp> (R) MdJ (A) apd; rhpahd tpsf;fk;  

b. (A) kw;Wk; (R) rhp> (R) MdJ (A)apd; rhpahd tpsf;fky;y 

c. (A) rhp> (R) jtW 
d. (A) jtW> (R) rhp  
e. tpil njhpatpy;iy 

 
112. Which Chola king patronised Buddhism despite himself following 

Saivism? 
a. Rajaraja   b. Rajendra I  c. Rajendra II  
d. Rajadhiraja  e. Answer not known 
irt rkaj;ijg; gpd;gw;wpa NghjpYk; ve;j Nrho kd;dh; Gj;j rkaj;ij 
Mjhpj;jhh;? 
a. ,uh[uh[d;    b. Kjyhk; ,uhN[e;jpud; 
c. ,uz;lhk; ,uhN[e;jpud;  d. ,uh[hjpuh[d; 

 e. tpil njhpatpy;iy 
 

113. What was the association of peasants known as during and after the 
period of the Cholas? 
a. Nanadesi   b. Cittirameli  c. Alumganam 
d. Ainnurruvar  e. Answer not known 
Nrhoh;fspd; fhyj;jpYk;> mjw;Fg; gpd;dUk; tptrhapfspd; rq;fk; vt;thW 
Fwpg;gplg;gl;lJ? 
a. ehdhNjrp   b. rpj;jpuNkop  c. MSk;fdk; 
d. Ie;E}Wth;  e. tpil njhpatpy;iy 

 

114. Which of the following statements are true with regard to the Sangam 
age? 
I. A group of learned scholars produced valuable Tamil Literature 

under the patronage of Pandyas, Cheras, Cholas. 
II. People worshipped the local god Murugan, later known as 

Subramaniam. 
III. The Peasants occupied a higher social status. 
a. I and II   b. II, III    c. I, III 
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; rq;f fhyj;ijg; gw;wpa rhpahd $w;Wfs; ahit? 
I. ghz;bah;fs;> Nruh;fs;> Nrhoh;fspd; Mjutpd; fPo; kjpg;G kpf;f jkpo; 

,yf;fpaq;fs; xU fy;tp fw;w mwpQh;fs; nfhz;l FOthy; 
cUthf;fg;gl;lJ 

II. kf;fs; Rg;gpukzpak; vd;W miof;fg;gl;l KUfid topgl;ldh; 
III. tptrhapfs; jho;e;j cah;e;j r%f epiyghl;by; ,Ue;jdh; 
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a. I kw;Wk; II  b. II, III    c. I, III   

d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

115. Choose the correct statements about Adichanallur.  
I. Adichanallur Museum is the first onsite archaeological Museum in the 

country  
II. It belongs to the Tamirabarani river civilization  
III. First time it was excavated in 1876 
a. I, II   b. I, III c. II, III  d. I, II, III  e. Answer not known 
Mjpr;rey;Y}h; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f.  
I. Mjpr;rey;Y}h; mUq;fhl;rpafk; njhy;ypay; jsj;jpNyNa 

epWtg;gl;Ls;s ehl;bd; Kjy; mUq;fhl;rpafk;  
II. ,J jhkpuguzp Mw;W ehfhpfj;ijr; rhh;e;jJ.  
III. 1876-Mk; Mz;L Kjd; Kjypy; mfo;thuha;r;rp nra;ag;gl;lJ.  
a. I, II   b. I, III c. II, III  d. I, II, III  e. tpil njhpatpy;iy 
 

116. Choose the correct statement about Elephant population Estimation 2023 
report  
I. Mudumalai Tiger reserve had the highest density of Elephants in Tamil 

Nadu  
II. Tamil Nadu has the largest number of elephants in the country.  
III. Maharashtra has the lowest elephant population in India  
a. I, II   b. I, III c. II, III d. I, II, III  e. Answer not known 
ahidfs; fzf;nfLg;G mwpf;if 2023 gw;wpa rhpahd $w;Wfisj; Njh;T 
nra;f.  
I. jkpo;ehl;bNyNa KJkiy Gypfs; fhg;gfj;jpy; ahidfs; kpf mjpf 

mlh;j;jpapy; fhzg;gLfpd;wd.  
II. ehl;bNyNa jkpo;ehl;by; jhd; kpf mjpf vz;zpf;ifapyhd ahidfs; 

cs;sd.  
III. ehl;bNyNa kfhuh~;buh khepyj;jpy; kpf Fiwthd vz;zpf;ifapy; 

ahidfs; cs;sd.  
a. I, II   b. I, III c. II, III d. I, II, III  e. tpil njhpatpy;iy 
 

117. The parallel sides of a trapezium are 23 cm and 12 cm. The distance 
between the parallel sides is 9 cm. Find the area of the trapezium.  
a. 177.5 sq.cm  b. 167.5 sq.cm  c. 157.5 sq.cm  
d. 147.5 sq.cm   e. Answer not known 
rhptfj;jpd; ,izg;gf;fq;fs; KiwNa 23 nr.kP> 12 nr.kP. 

,izg;gf;fq;fSf;F ,ilNa cs;s J}uk; 9 nr.kP vdpy;> rhptfj;jpd; 
gug;gsT fhz;f.  
a. 177.5 sq.cm  b. 167.5 sq.cm  c. 157.5 sq.cm  
d. 147.5 sq.cm   e. tpil njhpatpy;iy 
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118. Choose the correct statements regarding the Freedom filling station.  
I. Located at Puzhal central prison  
II. Nation’s first retail fuel outlet run by women convicts.  
a. I only    b. II only    c. Both    
d. None    e. Answer not known 
Rje;jpu vhpnghUs; epug;G epiyak; gw;wpa rhpahd $w;Wfisj; Njh;T 
nra;f.  
I. ,J Goy; kj;jpa rpiwapy; mike;Js;sJ.  
II. ,J ehl;bd; ngz; Fw;wthspfshy; elj;jg;gLk; Kjy; vhpnghUs; 

epiyak; MFk;.  
a. I kl;Lk;    b. II kl;Lk;    c. ,uz;Lk;  
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

119. uRuppamaindhu ooRanjaa velpadai vaendhan 
veRukkaiyuL ellaam thalai 
In this Kural the term verukkai means 
a. Selvam   b. inbam    c. matchimai 
c. seruku   e. Answer not known 
cWg;gike;J CWmQ;rh nty;gil Nte;jd;  
ntWf;ifAs; vy;yhk; jiy  
vd;w Fwspy; tUk; 'ntWf;if" vd;w nrhy;ypd; nghUs; vd;d?  
a. nry;tk;   b. ,d;gk;    c. khl;rpik  
d. nrUf;F    e. tpil njhpatpy;iy 

 
120. ennaimun nillanmin thevvir palarennai 

munnhindru kalnhin Ravar 
In this Kural the term ‘I’ means  
a. Poet   b. Citizens    c. King 
c. Knight   e. Answer not known 
“vd;idKd; epy;yd;kpd; njt;tph; gyh;vd;id  
Kd;epd;W fy;epd; wth; - vd;w Fwspy; cs;s “I” vd;w nrhy;ypd; 
nghUs; vd;d? 
a. Gytd;   b. Fbf;fs;    c. jiytd; 
d. Nghh;tPud;   e. tpil njhpatpy;iy 

 
121. Which of the following is the oldest dynasty? 

a. Satavahanas  b. Pallavas   c. Chalukyas  
d. Cheras   e. Answer not known 
gpd;tUtdtw;Ws; kpfg;goikahd rhk;uh[;[pak; vJ? 
a. rhjthfdh;fs;  b. gy;yth;fs;  c. rhSf;fpah;fs; 
d. Nruh;fs;   e. tpil njhpatpy;iy 
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122. The Arabs were established traders on the west coast of India and had the 
support of the rulers of Kerala.  Which one of the following rulers first 
conducted a naval campaign on important Arab trade centres to check 
their monopoly? 
a. Mahendravarman   b. Rajaraja Chola 
c. Dantidurga    d. Chalukya Vikramaditya VI 
e. Answer not known 
mNugpah;fs; ,e;jpahtpd; Nkw;F flNyhuq;fspy; epiya th;j;jfq;fis 
epWtp> Nfus Ml;rpahsh;fspd; Mjuitf; nfhz;bUe;jdh;. gpd;tUk;  
Ml;rpahsh;fspy; ahh; Kf;fpakhd muG tzpf ikaq;fspy; flw;gil 
eltbf;ifia Nkw;nfhz;L mth;fSila VfNghfj;jpw;F KbT fl;bdhh; 
a. kNfe;jputh;kd;    b. ,uh[uh[ Nrhod;  
c. je;jpJh;fh;     d. rhSf;fpa tpf;fpukhjpj;ah VI 
e. tpil njhpatpy;iy 
 

123. Choose the correct statements 
1. The originators of the Dravidian style of architecture and sculpture in 

South India were Cholas 
2. The new element of ‘Gopuram’ was encouraged in temples of South 

India by Padyas 
a. 1 only   b. 2 only    c. Both 
d. None   e. answer not known 
rhpahd $w;Wfis Njh;f 
1. njd;dpe;jpahtpd; jpuhtpl fl;blf;fiy kw;Wk; rpw;gj;jpid 

Njhw;Wtpj;jth;fs; Nrhoh;fs; 
2. njd;dpe;jpa Nfhapy;fspy; xU Gjpa mk;rkhf NfhGuk; 

ghz;bah;fshy; GFj;jg;gl;lJ 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. ,uz;Lk; 

d. ,uz;Lky;y  e. tpil njhpatpy;iy 
 

124. Choose the correct statements 
1. The oldest Indian Linguistic text is Ashtadhyayi 
2. Kanchipuram has revealed evidence of India’s contact with Rome 

during the early centuries of the Christian era 
a. 1 only   b. 2 only    c. Both 
d. None   e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. ,e;jpahtpd; kpfg;goikahd nkhopapay; ciu m~;lhj;jpahap 
2. fpwp];Jt rfhg;jj;jpd; Muk;g E}w;whz;Lfspy; NuhKld; ,e;jpahtpd; 

njhlh;G gw;wpa Mjhuq;fis nfhz;l ,lk; fhQ;rpGuk; 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. ,uz;Lk; 

d. ,uz;Lky;y  e. tpil njhpatpy;iy 
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125. Consider the following statements 
Assertion (A): The discovery of trident or Vel in some of the urns of 
    Megalithic Age suggests that the people of that age 
    worshipped Lord Muruga 
Reason (R):  The hook or alagu, which is still used in religious 
    ceremonies, has been found in Adhichanallur 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, but (R) is not the correct explanation of (A). 
c. A is true, but (R) is false. 
d. A is false, but (R) is true. 
e. Answer not known 
$w;Wfis Ma;f 
$w;W (A): ngUq;fy; fhyj;jpd; rpy jhopfspy; fz;nlLf;fg;gl;l Nty; 
   %yk; mf;fhy kf;fs; KUfid topgl;ldh; vdj;njhpfpwJ 
fhuzk; (R): jw;nghOJk; rka tpohf;fspy; cgNahfpf;Fk; myF> 
   Mjpr;rey;Y}hpy; fz;nlLf;fg;gl;Ls;sJ 
a. (A) kw;Wk; (R) rhp> (R) MdJ (A) apd; rhpahd tpsf;fk;  

b. (A) kw;Wk; (R) rhp> (R) MdJ (A)apd; rhpahd tpsf;fky;y 
c. (A) rhp> (R) jtW 
d. (A) jtW> (R) rhp  
e. tpil njhpatpy;iy 

 

126. The radius of a circular flower garden is 21 m. A circular path of 14 m 
wide is laid around the garden. Find the area of the circular path. 
a. 2468 m2  b. 2464 m2   c. 2400 m2   
d. 2450 m2  e. Answer not known 

xU tl;l tbtg; G+e;Njhl;lj;jpd; Muk; 21 kP. me;jj; Njhl;lj;ijr; Rw;wp> 
14 kP mfyk; cs;s tl;l eilghij cs;sJ vdpy;> me;j 
tl;lg;ghijapd; gug;gsT fhz;f.  
a. 2468 m2  b. 2464 m2   c. 2400 m2   
d. 2450 m2  e. tpil njhpatpy;iy 

 

127. Choose the correct statements 
1. The inscriptions found at Arnattar hills furnish information regarding 

the kings of Cholas 
2. Thirupparankundrum inscriptions mention the gift of cave beds to the 

Jain monks 
a. 1 only   b. 2 only   c. Both 
d. None   e. Answer not known  
rhpahd $w;Wfis Njh;f 
1. Mh;ehl;lhh; kiyf;fy;ntl;L Nrho kd;dh;fisg; gw;wp $WfpwJ 
2. rkzj;JwtpfSf;F fw;gLf;iffis nfhilahf toq;fg;gl;lij gw;wp 

jpUg;guq;Fd;wk; fy;ntl;Lfs; Fwpg;gpLfpd;wd 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. ,uz;Lk; 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 
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128. Consider the following statements 

Assertion (A): Mudhukudumi Peruvazhthi was given the title  
      Palyagasalai 

Reason (R): He performed many sacrifices to celebrate his victories 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, but (R) is not the correct explanation of (A). 
c. A is true, but (R) is false. 
d. A is false, but (R) is true. 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
$w;W (A): gy;ahfrhiy vd;w rpwg;Gg;ngah; KJFLkpg; ngUtOjpf;F  

toq;fg;gl;lJ 
fhuzk; (R): mth; jdJ ntw;wpfisg; Nghw;Wk; tifapy; gy  

  Nts;tpfisr; nra;jhh; 
a. (A) kw;Wk; (R) rhp> (R) MdJ (A) apd; rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp> (R) MdJ (A)apd; rhpahd tpsf;fky;y 

c. (A) rhp> (R) jtW 
d. (A) jtW> (R) rhp  
e. tpil njhpatpy;iy 

 
129. Choose the correct statements 

I. Perungoppendu, the wife of Pandiya king Bootha Pandiyan was a 
great dancer 

II. Perungoppendu committed self-immolation at the death of her 
husband 

a. I only   b. II only   c. Both I and II  
d. Neither I nor II  e. Answer not known 

 rhpahd $w;Wfisf; fhz;f 
I. ghz;ba muruhd g+jg;ghz;badpd; kidtp ngUq;Nfhg;ngz;L xU 

rpwe;j eldf;fiyQh; Mthh; 
II. ngUq;Nfhg;ngz;L jdJ fzthpd; kiwtpw;F gpwF cld;fl;il 

Vwpdhh; 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II  
d. ,uz;Lkpy;iy  e. tpil njhpatpy;iy 
 

130. Consider the following statements 
Assertion (A): Local markets came up during Sangam age and they  

      were known as Angadis 
Reason (R): Both Day Market (Allangadi) and Evening Bazaar  
       (Nalangadi) existed in port towns during Sangam age 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, but (R) is not the correct explanation of (A). 
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c. A is true, but (R) is false. 
d. A is false, but (R) is true. 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
$w;W (A): mq;fhbfs; vd;wiof;fg;gl;l cs;ehl;L re;ijfs; rq;ff; 
   fhyj;jpy; cUthfpd 
fhuzk; (R): rq;f fhyj;jpy; JiwKf efuq;fspy; gfy; Neu re;ij 
   (my;yq;fhb) kw;Wk; khiy Neu re;ij (ehsq;fhb) Mfpa 
   ,U re;ijfSk; ,Ue;jd 
a. (A) kw;Wk; (R) rhp> (R) MdJ (A) apd; rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp> (R) MdJ (A)apd; rhpahd tpsf;fky;y 

c. (A) rhp> (R) jtW 
d. (A) jtW> (R) rhp  
e. tpil njhpatpy;iy 

 
131. Which excavations remain as the important evidence for the Greek and 

Roman trade in the Tamil country? 
a. Adhichanallur  b. Ariyalur   c. Keezhadi 
d. Arikkamedu  e. Answer not known 
ve;j mfo;tha;Tfs; fpNuf;f kw;Wk; cNuhkhdpa th;j;jfk; Fwpj;J mwpa 
cjTk; Kf;fpa njhy;ypay; rhd;whFk;? 
a. Mjpr;rey;Y}h;  b. mhpaY}h;   c. fPob 
d. mhpf;fNkL  e. tpil njhpatpy;iy 
 

132. Choose the correct statements about Porpanaikkottai  
I. It is located in Pudukkottai district  
II. A circular brick structure was unearthed by Archaeologist from 

here 
III. This site belongs to post Sangam period  
a. I, II  b. I, III c. II, III d. I, II, III  e. Answer not known 
nghw;gidf; Nfhl;il gw;wpa rhpahd $w;Wfisj; Njh;T nra;f.  
I. ,J GJf;Nfhl;il khtl;lj;jpy; mike;Js;sJ.  
II. ,q;F tl;ltbt nrq;fy; fl;likg;G mfo;thuha;r;rpahsh;fshy; 

fz;lwpag;gl;Ls;sJ.  
III. ,t;tplk; rq;fk; kUtpa fhyj;ijr; rhh;e;jJ.  
a. I, II  b. I, III c. II, III d. I, II, III  e. tpil njhpatpy;iy 
 

133. The ULLAS mobile application was introduced by  
a. Union ministry of Education  
b. Union Ministry of Health  
c. Union Ministry of Agriculture and farmers welfare  
d. Union Ministry Labour  
e. Answer not known 
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ULLAS vDk; ifg;Ngrp nraypia mwpKfg;gLj;jpaJ  

a. kj;jpa fy;tp mikr;rfk;  
b. kj;jpa Rfhjhu mikr;rfk;  
c. kj;jpa Ntshz;ik kw;Wk; tptrhapfs; Nkk;ghl;L mikr;rfk;  
d. kj;jpa njhopyhsh;fs; mikr;rfk;  
e. tpil njhpatpy;iy 

 
134. Choose the correct statements about PM Vishwakarma Yojana  

I. It was announced in 2023 – 24 union Budget  
II. It aims to empower  skilled artisans and craftsman 
III. Rs. 13000 cores allocated for this scheme  
a. I, II  b. I, III c. II, III d. I, II, III  e. Answer not known 
gpujk ke;jphp tp];tfh;kh jpl;lk; gw;wpa rhpahd $w;Wfisj; Njh;T nra;f.  
I. ,j;jpl;lk; 2023 – 24 Mk; Mz;bd; kj;jpa gl;n[l;by; 

mwpKfg;gLj;jg;gl;lJ.  
II. ,J jpwikahd iftpidQh;fSf;F mjpfhukspg;gij Nehf;fkhff; 

nfhz;lJ.  
III. ,j;jpl;lj;jpw;fhf & 13>000 Nfhb xJf;fg;gl;Ls;sJ.  
a. I, II  b. I, III c. II, III d. I, II, III  e. tpil njhpatpy;iy 
 

135. The capacity of a tank of dimension (8 m × 6 m × 2.5 m) is 
a. 120000 litre  b. 100000 litre  c. 50000 litre   
d. 80000 litre  e. Answer not known 
(8 m × 6 m × 2.5 m) ghpkhzq;fs; nfhz;l fydpd; nfhs;ssT 

a. 120000 ypl;lh;  b. 100000 ypl;lh;  c. 50000 ypl;lh;  
d. 80000 ypl;lh;  e. tpil njhpatpy;iy 

 
136. Match the following 

A. jWfz;   1. Foe 
B. Cuhz;ik  2. Help 
C. njt;th;   3. Forest 
D. fhdk;   4. Valor 
 A B C D 
a. 4 2 3 1 
b. 3 2 1 4 
c. 1 2 3 4 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf 
A. jWfz;   1. gifth; 
B. Cuhz;ik  2. cjtp 
C. njt;th;   3. fhL 
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D. fhdk;   4. kwk; 

 A B C D 
a. 4 2 3 1 
b. 3 2 1 4 
c. 1 2 3 4 
d. 4 2 1 3 
e. tpil njhpatpy;iy 

 
137. vizhuppuN pataadhanhaal ellaam vazhukkinuL 

vaikkumdhan naaLai eduththu 
In this Kural the term Vizhuppun means 
a. angry stare  b. wound   c. monarch’s eyes 
d. None of these  e. Answer not known 
_________ glhjehs; vy;yhk; tOf;fpDs;  
itf;Fk;jd; ehis vLj;J 
a. tpopj;jfz;  b. tpOg;Gz;   c. Gue;jhh;f;fz; 
d. ,it VJkpy;iy e. tpil njhpatpy;iy 

 
138. Which kingdom was the first to get the benefit of the Roman trade? 

a. Chola   b. Pandiya    c. Chera  
d. Pallava   e. Answer not known 
Nuhkhdpa th;j;jfj;jpdhy; Kjd;Kjypy; nghpJk; gadile;j muR vJ? 
a. Nrhoh;fs;   b. ghz;bah;fs;   c. Nruh;fs; 
d. gy;yth;fs;  e. tpil njhpatpy;iy 
 

139. Match the following  
A. Plutarch    1. Arikkamedu 
B. Dyeing tub   2. Roman Emperor 
C. Alagankulam   3. Greek writer 
D. Nero    4. Excavations 
 A B C D 
a. 3 4 1 2 
b. 4 3 2 1 
c. 1 2 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
A. GSlhh;f;    1. mhpf;fNkL 
B. rhaj;njhl;b   2. Nuhkhdpa murd; 

C. mofd;Fsk;   3. fpNuf;f vOj;jhsh; 
D. ePNuh    4. mfo;tha;T 
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A B C D 
a. 3 4 1 2 
b. 4 3 2 1 
c. 1 2 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

140. Sanskrit and Prakrit languages had been introduced in the Tamil region. 
This had resulted in the development of a new script called  
a. Suttezhththu  b. Vattezhththu  c. Nettezhththu 
d. Kuttezhththu  e. Answer not known 
jkpofj;jpy; rk];fpUjKk; gpuhfpUjKk; mwpKfg;gLj;jg;gl;ld. ,jdhy; 
tsh;r;rpg;ngw;w Gjpa thptbtk; vJ? 
a. Rl;nlOj;J  b. tl;nlOj;J  c. nel;nlOj;J 
d. Fl;nlOj;J  e. tpil njhpatpy;iy 
 

141. Match the following 
A. Avani Sundari Katha   1. Parameshwaravarman 
B. Loga Vibagam    2. Dandin 
C. Kuram Copper Plates   3. Nandivarman III 
D. Velurpalayam Copper Plates 4. Sarva Nandi 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 4 3 2 1 
d. 3 1 4 2 
e. Answer not known 
nghUj;Jf 
A. mtdp Re;jhp fij   1. guNk];tuth;kd; 
B. Nyhf tpghfk;    2. jz;bd; 
C. $uk; nrg;NgLfs;   3. %d;whk; ee;jpth;kd;  

D. NtY}h;ghisak; nrg;NgLfs;  4. rh;tee;jp 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 4 3 2 1 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
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142. Match the following 
A. Manigramam  1. Measurement unit 
B. Nanadesi   2. Foreign merchants 
C. Videl   3. Land unit 
D. Hala   4. Merchants organization 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c.  4 3 2 1 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf 
A. kzpfpuhkk;   1. mstpd; myF 

B. ehdNjrp    2. may;ehl;L tzpfh;fs; 

C. tpNly;    3. epyj;jpd; myF 
D. `hyh    4. tzpfh;fs; rq;fk; 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c.  4 3 2 1 
d. 4 2 1 3 
e. tpil njhpatpy;iy 
 

143. During whose rule, the Saiva saint, Sundaramoorthi Nayanar visited 
Madurai? 
a. Kongar Koman  b. Nelveli Nedumaran c. Maaran Sendhan 
d. Vendhar Vendhan e. Answer not known 
ahUila fhyj;jpy;> irtj; Jwtpahd Re;ju%h;j;jp ehadhh; kJiuf;F 
tUifg; Ghpe;jhh;? 
a. nfhq;fh; Nfhkhd; b. ney;Ntyp neLkhwd; c. khwd; Nre;jd;  
d. Nte;jh; Nte;jd;  e. tpil njhpatpy;iy 
 

144. Consider the following statements 
Assertion (A): The ceilings and pillars of the Chittannavasal cave 
    temples bear the painted figures and the technique is 
    known as fresco. 
Reason (R):   The paintings represent the dancing girls, the king and 
    queen, plants and animals 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, but (R) is not the correct explanation of (A). 
c. A is true, but (R) is false. 
d. A is false, but (R) is true. 
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e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): rpj;jd;dthry; Fif Nfhapypy; cl;gf;f $iu kPJk; J}z;fs; 
   kPJk; mofpa tz;z Xtpaq;fs; jPl;lg;gl;Ls;sd. 
fhuzk; (R): me;j Xtpaq;fs; eldkq;iffs;> murh;> murp> nrbfs; kw;Wk; 
   tpyq;Ffs; gw;wp Fwpf;fpd;wd 
a. (A) kw;Wk; (R) rhp> (R) MdJ (A) apd; rhpahd tpsf;fk;  

b. (A) kw;Wk; (R) rhp> (R) MdJ (A)apd; rhpahd tpsf;fky;y 
c. (A) rhp> (R) jtW 
d. (A) jtW> (R) rhp  
e. tpil njhpatpy;iy 
 

145. The heights of two circular cones are in the ratio 2 : 3 and the perimeter of 
their bases are 3 : 5. The ratio of their volumes, is  
a. 2 : 5  b. 6 : 15  c. 6 : 25   d. 3 : 5 e. Answer not known 
,U tl;lf; $k;Gfspd; cauq;fspd; tpfpjk; 2 : 3. mtw;wpd; mbr; 
Rw;wsTfspd;   tpfpjk; 3 : 5. mtw;wpd; fd msTfspd; tpfpjk; 
a. 2 : 5  b. 6 : 15  c. 6 : 25   d. 3 : 5 e. tpil njhpatpy;iy 

 
146. Consider the following statements 

Assertion (A): The Pandiyas were well known for their bronze 
     images. 
Reason (R):   The Nataraja and Arthanareeswarar idols of 
     Nageshwarar Temple, Kumbakonam are the best 
     examples of Pandiyas Sculptures 
a. Both (A) and (R) are true and (R) is the correct explanation for (A) 
b. Both (A) and (R) are true but  (R) is not the correct explanation  for (A) 
c. (A) is true but (R) is false  
d. Both (A) and (R) are false 
e. Answer not known 
$w;Wfis Ma;f 
$w;W (A): ghz;bah;fs; cNyhfr; rpiyfSf;Fg; ngah;g;ngw;wth;fs; 
fhuzk; (R): Fk;gNfhzk; ehNf];tuh; Nfhapypy; cs;s eluhrh;> 
    mh;j;jehhP];tuh; Mfpa cNyhfr; rpiyfs; ghz;bah; fiy 
    mk;rj;jpw;F rpwe;j vLj;Jf;fhl;Lfs; MFk; 
a. A kw;Wk; R rhp> R vd;gJ Af;F rhpahd tpsf;fk;. 
b. A kw;Wk; R rhp> R vd;gJ Af;F rhpahd tpsf;fky;y. 

c. A rhp> R jtW.   
d. A, R jtW. 
e. tpil njhpatpy;iy 

  



 

51 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

147. Choose the incorrect statements 
I. Maravarma Sundara Pandiya I assumed the titles “Emmandalamum 

Kondaruliya Maharajathiraja, Sri Paramesvaran” 
II. Maravarma Sundara Pandiya II assumed the title “Ponveintha 

Perumal” 
III. Jatavarman Sundara Pandya I assumed the title “Kollam Konda 

Pandya” 
a. I, III only  b. II, III only   c. I, II only   
d. All of these  e. Answer not known 
jtwhd ,izfis fhz;f 
I. “vk;kz;lyKk; nfhz;lUspa kfhuh[hjpuh[h> =guNk];tud; 

vd;nwy;yhk; Kjyhk; khwth;kd; Re;ju ghz;bad; gl;lk; 
#l;bf;nfhz;lhh;. 

II. “nghd;Nta;e;j ngUkhs;” vd;w gl;lj;ij ,uz;lhk; khwth;kd; 
Re;ju ghz;bad; #l;bf;nfhz;lhh; 

III. “nfhy;yk;nfhz;l ghz;bad;” vd;w gl;lj;ij Kjyhk; [lhth;k 
Re;ju ghz;bad; #l;bf;nfhz;lhh;. 

a. I, III kl;Lk;  b. II, III kl;Lk;  c. I, II kl;Lk;   

d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

148. Choose the incorrect statement 
a. The major imports of the Sangam age were gold, horses and sweet 

wine 
b. There was great demand in the western world for the woollen 

clothes woven at Uraiyur 
c. Paddy was the chief crop in the Chola and Pandiya countries 
d. The major exports of the Sangam age were cotton fabrics, species, 

ivory products, pearls and precious stones 
e. Answer not known 

 jtwhdf; $w;iwf; fhz;f 
a. jq;fk;> Fjpiufs; kw;Wk; ,dpg;ghd kJ Mfpait rq;ffhyj;jpd; 

Kf;fpa ,wf;Fkjpfs; MFk; 
b. ciwa+hpy; cw;gj;jp nra;ag;gl;l fk;gsp MilfSf;F Nkiy 

ehLfspy; ngUe;Njitf; fhzg;gl;lJ 
c. Nrho kw;Wk; ghz;ba ehLfspy; ney; Kf;fpa gapuhFk; 
d. gUj;jp Milfs;> eWkzg;nghUl;fs;> je;jk; Ntiyg;ghL epiwe;j 

nghUl;fs;> Kj;Jf;fs; kw;Wk; tpiyAah;e;j fw;fs; Mfpait 
rq;ffhyj;jpd; Kf;fpa Vw;Wkjp nghUl;fs; MFk; 

e. tpil njhpatpy;iy 
 

149. Which of the following involved in the longest scorpene class submarine 
deployment of India?  
a. INS Arihant   b. INS Kalvari   c. INS Vagir   
d. INS Vikrant   e. Answer not known 
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gpd;tUtdtw;Ws; ePz;lJ}ug; gazk; Nkw;nfhz;l ,e;jpahtpd; ];fhh;gpad; 
uf ePh;%o;fpf; fg;gy; vJ?  
a. INS mhp`z;l;  b. INS fy;thh;   c. INS tfph;   
d. INS tpf;uhe;j;   e. tpil njhpatpy;iy 
 

150. Choose the correctly matched pairs  
Joint Defence exercise   Countries  
i. BRIGHT STAR 23   - India and England  
ii. PASSEX     - India and Saudi Arabia  
iii. Malabar     - India, Japan, USA and Australia  
 iv. Nomadic Elephant – 23  - India and Mongolia  
a. i, ii, iv    b. ii, iii, iv     c. i, iii, iv   
d. All the above   e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;T nra;f.  
$l;L ghJfhg;G gapw;rpfs;   ehLfs;  
i. BRIGHT STAR 23  - ,e;jpah kw;Wk; ,q;fpyhe;J  
ii. PASSEX    - ,e;jpah kw;Wk; rTjp mNugpah  
iii. kyghh;   - ,e;jpah> [g;ghd;> mnkhpf;fh kw;Wk; 
      M];jpNuypah  
iv. nehNkbf; ahid  - ,e;jpah kw;Wk; kq;Nfhypah  

a. i, ii, iv    b. ii, iii, iv     c. i, iii, iv   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

151. Match the following:  
Defence exercise   Countries  

 A. AUSINDEX    1. India  and Australia  
 B. Cope India    2. India and USA  
 C. FALCON Shield – 23   3. China and UAE  
 D. Varuna – 23    4. India and France  
  A B C D 
 a. 1 2 3 4 
 b. 1 2 4 3 
 c. 2 1 3 4 
 d. 2 1 4 3 

e. Answer not known 
  nghUj;Jf:  
  A. AUSINDEX    1. ,e;jpah kw;Wk; M];jpNuypah  

B. COPE INDIA    2. ,e;jpah kw;Wk; mnkhpf;fh  
C. FALCON Shield 23   3. rPdh kw;Wk; If;fpa muG mkpufk;  
D. tUzh – 23    4. ,e;jpah kw;Wk; gpuhd;];  

A B C D 
 a. 1 2 3 4 
 b. 1 2 4 3 
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c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

152. ________ will give you the right to make friends 
a. communication and habits   b. creativity and motivation 
c. similar emotion     d. wealth and position 
d. answer not known 
________ el;G Vw;gLtjw;F Ntz;ba chpikiaf; nfhLf;Fk; 

a. njhlh;Gk; gof;fKk;  b. Mf;fKk; Cf;fKk; c. xj;j czh;r;;rp 
d. nghUSk; gjtpAk;  e. tpil njhpatpy;iy 

 
153. If the base area of a hemispherical solid is 1386 sq. metres, then find its 

total surface area. 
a. 4158 m3  b. 4158 m2 c. 4185 m2 d. 4185 m e. Answer not known 
xU jpz;k miuf; Nfhsj;jpd; mbg;gug;G 1386 r.kP vdpy;> mjd; nkhj;jg; 
Gwg;gug;igf; fhz;f.  
a. 4158 kP3  b. 4158 kP2 c. 4185 kP2 d. 4185 kP e. tpil njhpatpy;iy  

 
154. azhivi navainheekki aaRuyththu azhivin-kaN 

allal uzhappadhaam natpu 
In this Kural the term allal means 
a. valor   b. giving   c. majesty    
d. suffering   e. answer not known 
moptpd; mitePf;fp MWa;j;J moptpd;fz; 
my;yy; cog;gjhk; el;G – vd;w Fwspy; “my;yy;” vd;w nrhy;ypd; 
nghUs; ahJ? 
a. tPuk;   b. <if   c. khl;rpik 
d. Jd;gk;   e. tpil njhpatpy;iy 

 
155. Consider the following statements. 

I. He was converted to Saivism by the influence of the Saiva saint, 
Thirunavukkarasar. 

II. He built a Siva temple at Tiruvadi. 
III. He assumed a number of titles like Gunabhara, Satyasandha and 

Vichitrachitta. 
 Who is referred in the above statements? 

a. Narasimhavarman I    b. Mahendravarman I 
c. Parameswaravarman II   c. Nandivarman II 
e. Answer not known 
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$w;Wfis Muha;f 
I. ,th; jpUehTf;furh; vd;w irtg;nghpahuhy; irt rkaj;jpw;F 

khw;wg;gl;lhh;. 
II. ,th; jpUtjp vd;Dk; ,lj;jpy; xU rpthyaj;ij fl;bdhh; 
III. ,th; Fzgud;> rj;jpare;jd; kw;Wk; tprpj;jpurpj;jd; Mfpa 

gl;lq;fis #l;bf;nfhz;lhh; 
Nkw;fz;l $w;Wfspy; Fwpg;gplg;gLgth; ahh;? 
a. Kjyhk; eurpk;kth;kd;   b. Kjyhk; kNfe;jputh;kd; 

c. ,uz;lhk; guNk];tuth;kd;   d. ,uz;lhk; ee;jpth;kd; 
e. tpil njhpatpy;iy 

 
156. Identify the correct statements 

I. The Nayaks ruled over Madurai, Tanjore and Senji 
II. The Nayaks followed Paligar system 
III. The Nayaks not upheld varnasrama system in the society 
IV. Thirumalai Nayak Mahal is a classical fusion of Dravidian, Islamic 

and European style  
a. I, II only   b. I, II, IV only   c. II, III only  
d. All of these  e. Answer not known 
rhpahdf; $w;Wfis fz;lwpf 
I. ehaf;fh;fs; kJiu> jQ;rhT+h;> nrQ;rp Mfpa efuq;fis Ml;rp 

Ghpe;jdh; 
II. ehaf;fh;fs; ghisag; gl;L Kiwia gpd;gw;wpdh; 
III. ehaf;fh;fs; Ml;rpapy; th;zhrpuk mbg;gilapyhd rKjha Kiw 

fhzg;gltpy;iy 
IV. jpUkiy ehaf;fh; kfhy; jpuhtpl> ,];yhkpa kw;Wk; INuhg;gpa 

fiy mk;rq;fis nfhz;Ls;sJ 
a. I, II kl;Lk;  b. I, II, IV kl;Lk;    c. II, III kl;Lk;  
d. ,it midj;Jk; e. tpil njhpatpy;iy 

 
157. Match the following: 

A. Restored peace between Vaishnavas and Jains  1. Devaraya II 
B. Dam across Tungabhadra    2. Devaraya I 
C. Title “Ganga Betekara”    3. Krishna Devaraya 
D. Title “Yavanaraja Sthapanachaya”   4. Bukka I 
 A B C D 
a. 4 3 2 1 
b. 3 2 4 1 
c. 4 2 1 3  
d. 4 3 1 2 
e. Answer not known 
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nghUj;Jf:  
A. itzth;> rkz rkaj;jthpilNa mikjpia  
   epiyehl;bath;    1. ,uz;lhk; Njtuhah;  
B. Jq;fgj;uh FWf;Nf miz   2. Kjyhk; Njtuhah;  

C. ‘fq;fh gl;lfhuh’ gl;lk;   3. fpU~;z Njtuhah;  
D. ‘atduh[h ];jhgehr;rpah’   4. Kjyhk; Gf;fh;  

A B C D 
a. 4 3 2 1 
b. 3 2 4 1 
c. 4 2 1 3  
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

158. Consider the following statements. 
Assertion (A): Kumara Gupta I, who founded Nalanda university was 
    called Sakraditya. 
Reason (R):  Fahien, visited Nalanda university, studied Buddhist 
    Philosophy. 
a. Both A and R are correct and R is the correct explanation to A 
b. Both A and R are correct but R is not the correct explanation to A 
c. A is true but R is false 
d. A is false but R is true 
e. Answer not known 
gpd;tUk; $w;Wfis ftdp: 
$w;W (A): ehse;jh gy;fiyf;fofj;ijj; Njhw;Wtpj;j FkhuFg;jh;> 
   rf;uhj;jpah; vd;Wk; miof;fg;gLfpwhh;. 
fhuzk; (B): gh`pd; ese;jh gy;fiyfofj;jpw;F tUif je;J Gj;j 
   jj;Jtq;fis gapd;whh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 
 

159. Match the following 
 A. Chidambarapuranam 1. Thiruvenkatam  
 B. Chidambarapattial  2. Paranjothiar  
 C. Irusamaya Vilakkam  3. Kumaraguruparar  
 D. Kandar Kali Venba  4. Haridasa  
 E. Meyngnana Vilakkam 5. Thirumalai Nayak  
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  A B C D E 
 a. 5 2 4 3 1 
 b. 5 2 3 4 1 
 c. 5 2 1 4 3 
 d. 4 3 2 1 5 
 e. Answer not known 
 nghUj;Jf 
 A. rpjk;gu Guhzk;  1. jpUNtq;flk; 

 B. rpjk;gu ghl;bay;  2. guQ;Nrhjpahh; 
 C. ,Urka tpsf;fk;  3. FkuFUguh; 

 D. fe;jh; fypntz;gh  4. `hpjhrh; 

 E. nka;Qhd tpsf;fk;  4. jpUkiy ehaf;fh; 
  A B C D E 
 a. 5 2 4 3 1 
 b. 5 2 3 4 1 
 c. 5 2 1 4 3 
 d. 4 3 2 1 5 
e. tpil njhpatpy;iy 
 

160. What is the condition that three non-zero numbers a, b, c are in 
Arithmetic progression 
a. 2b= a + c  b. 2a = b + c   c. 2c = a + b   

d. 
2

b c
a

+
=   e. Answer not known

 
%d;W g+r;rpakw;w vz;fs; a, b, c vd;gd xU $l;Lj;njlh; thpirapy; 
,Ue;jhy; epge;jid 
a. 2b= a + c  b. 2a = b + c   c. 2c = a + b   

d. 
2

b c
a

+
=   e. tpil njhpatpy;iy

 
 

161. The commentary called Dakshinchitra was compiled during the reign of  
a. Mahendravarman I    b. Nandivarman II 
c. Narasimhavarman I   d. Parameswaravarman II 
e. Answer not known  
ahh; fhyj;jpy; jl;rpzrpj;jpuk; vd;w Xtpaf;fiy tpsf;f E}y; 
njhFf;fg;gl;lJ? 
a. Kjyhk; kNfe;jputh;kd;  b. ,uz;lhk; ee;jpth;kd; 
c. Kjyhk; eurpk;kth;kd;   d. ,uz;lhk; guNk];tuth;kd; 
e. tpil njhpatpy;iy 
 

162. Match the following : 
A. Gol Gumbaz    1. Muhammad Quli Qutub Shah 
B. Golconda Fort    2. Muhammad Adil Shah 
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C. City of Hyderabad and Charminar   3. Ibrahim Adil Shah 
D. Introduction of Dakhini in place of Persian    4. Quli Qutub Shah 
 A B C D 
a. 4 3 2 1  
b. 2 4 1 3 
c. 1 2 3 4 
d. 4 2 3 1  
e. Answer not known 
nghUj;Jf: 
A. Nfhy; Fk;gh];     1. KfkJ Fyp FJ}g;~h 

B. Nfhy;nfhz;lh Nfhl;il   2. KfkJ mby; ~h 

C. i`juhghj; efuk;> rhh;kpdhh;   3. ,g;uh`pk; mby; ~h 
D. ghurPfj;jpw;F gjpy; jhfpdp mwpKfk;  4. Fyp FJ}g; ~h 

A B C D 
a. 4 3 2 1  
b. 2 4 1 3 
c. 1 2 3 4 
d. 4 2 3 1  
e. tpil njhpatpy;iy 
 

163. Match the following:  
A. Mahendravarman I 1. Rock-cut temples     i.  Varaha Mandapam 
B. Narasimhavarman I 2. Rathas and       ii. Dalavanur Temple 
            Mandapas  
C. Rajasimha   3. Structural temples      iii. Muktheeswara 
     with soft sand rocks  temple 
D. Nandivarman   4. Structural temples      iv. Mamallapuram 
          shore temple 
a. A-1-i, B-2-ii, C-3-iii, D-4-iv 
b. A-2-iii, B-1-iv, C-4-i, D-3-ii 
c. A-4-iv, B-3-iii, C-2-ii, D-1-i  
d. A-1-ii, B-2-i, C-3-iv, D-4-iii 
e. Answer not known 
nghUj;Jf 
A. kNfe;jputh;kd; I 1. Filtiuf; Nfhapy;fs; i. tuhfkz;lgk; 
B. eurpk;kth;kd; I  2. ujk; kw;Wk; kz;lgk;  ii. jsthD}h; 
          Nfhapy; 
C. uh[rpk;kd;  3. kzw;ghiwf; fw;fshy;  iii. Kf;jP];tuh; 
                           Md fl;Lkhd Nfhapy;fs;        Nfhapy; 
D. ee;jpth;kd;  4. fl;Lkhdf; Nfhapy;fs;  iv. khky;yGuk; 
          flw;fiu Nfhapy; 
a. A-1-i, B-2-ii, C-3-iii, D-4-iv 
b. A-2-iii, B-1-iv, C-4-i, D-3-ii 
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c. A-4-iv, B-3-iii, C-2-ii, D-1-i   
d. A-1-ii, B-2-i, C-3-iv, D-4-iii 
e. tpil njhpatpy;iy 
 

164. Match the following 
A. Viraliyar  1. Dancer 
B. Anthanar  2. Wiseman  
C. Umanar  3. Salt merchant 
D. Panar  4. Bards 
  A B C D 
a. 4 3 2 1 
b. 3 4 1 2 
c. 2 1 4 3 
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf 
A. tpuypah;   1. eldf;fiyQh; 
B. me;jzh;   2. Qhdk; ngw;wth; 

C. ckzh;   3. cg;G tzpfh; 

D. ghzh;   4. ghlfh; 
  A B C D 
a. 4 3 2 1 
b. 3 4 1 2 
c. 2 1 4 3 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
 

165. Which age weapons were found in Tirunelveli, Thandikkudi, Pudukottai, 

Tiruchirapalli and Salem? 

a. Iron age   b. Copper age  c. New stone age  

d. Old stone age  e. Answer not known 
jpUney;Ntyp> jhd;bf;Fb> GJf;Nfhl;il> jpUr;rpuhg;gs;sp kw;Wk; Nryk; 
Mfpa ,lq;fspy; vf;fhyf; fUtpfs; fpilj;Js;sd? 

a. ,Uk;Gf; fhyk;  b. nrk;Gf; fhyk;  c. Gjpa fw;fhyk; 

d. gioa fw;fhyk; e. tpil njhpatpy;iy 

166. How many pairs are correctly matched?  
Books      Author  
I. Kargil     - Rishi Raj  
II. Monsoon     - Abhay Kumar  
III. How prime Ministers decide  – Neeraj Chowdhury  
a. one pair    b. Two pairs   c. Three pairs   
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d. None    e. Answer not known 
rhpahfg; nghUe;jpa ,izfs; vj;jid?  
Gj;jfq;fs;       Mrphpah;  
I. fhh;fpy;     - up~puh[;  
II. khd;#d;      - mga;Fkhh;  
III. n`ht; gpiuk; kpdp];lh;]; birl;  - ePu[; nrsj;hp  
a. Xh; ,iz   b. ,uz;Lk; ,izfs;  c. %d;W ,izfs;  
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

167. Choose the correctly matched pairs  
Conference      Place  
I. BRICS summit 2023   Johannesburg  
II. G20 summit 2023    New Delhi  
III. First ever Global AI summit  India  
IV. ASEAN Summit 2023   Jakarta  
a. I, II    b. I, II, III     c. I, II, IV   
d. I, II, III, IV   e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;T nra;f.  
khehLfs;       ,lk;  
I. gphpf;]; cr;rpkhehL 2023   - N[h`d;];gh;f;  
II. G20 cr;rpkhehL 2023    - GJnly;yp  
III. cyfshtpa Kjy; AI khehL   - ,e;jpah  
IV. Mrpahd; cr;rpkhehL 2023   - [fh;j;jh  
a. I, II    b. I, II, III     c. I, II, IV  
d. I, II, III, IV   e. tpil njhpatpy;iy 
 

168. What is the sum of the series 1 + 8 + 27 + 64 + …. + 1000. 
a.  1100 b. 1064 c. 2027 d. 3025 e. Answer not known 
1 + 8 + 27 + 64 + …. + 1000 vd;w njhlhpd; $Ljy; vd;d? 
a.  1100 b. 1064 c. 2027 d. 3025 e. tpil njhpatpy;iy 
 

169. Choose the correct statements about the International Big cat Alliance  
I. It was launched by India  
II. It aims to conserve seven big cats  
III. It aims to reach to 97 countries  
a. I, II  b. I, III c. II, III d. I, II, III  e. Answer not known 
rh;tNjr ngUk;G+idfs; $l;likg;G gw;wpa rhpahd $w;Wfisj; Njh;T 
nra;f.  
I. ,J ,e;jpahthy; njhlq;fg;gl;lJ.  
II. ,J VO ngUk;G+id ,dq;fisg; ghJfhg;gij Nehf;fkhff; 

nfhz;lJ.  
III. ,J 97 ehLfisr; nrd;wiltij Nehf;fkhff; nfhz;Ls;sJ 
a. I, II  b. I, III c. II, III d. I, II, III  e. tpil njhpatpy;iy 
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170. Alliance with the man you have not proved and proved again, 
In length of days will give you mortal pain. 
In this Kural the term Alliance means 
a. Valor  b. Hatred    c. Friendship 
d. Defect  e. Answer not known 
Ma;e;jha;e;J nfhs;shjhd; Nfz;ik filKiw 
jhd;rhk; Jauk; jUk; - vd;w Fwspy; tUk; “Nfz;ik” vd;w nrhy;ypd; 
nghUs; vd;d? 
a. tPuk;  b. gifik    c. el;G 
d. Fw;wk;  e. tpil njhpatpy;iy 

 
171. By knowing the nature ________ befriend someone 

a. one’s Character  b. one’s defect  c. one’s descent 
d. All of these  e. Answer not known 
________ ,ay;ig mwpe;J xUtNdhL el;Gf; nfhs;sNtz;Lk; 
a. xUtdpd; Fzk;  b. xUtdpd; Fw;wk; c. xUtdpd; Fbg;gpwg;G 
d. ,it midj;Jk; e. tpil njhpatpy;iy 

 
172. The famous Kohinoor Diamond belonged to the  

a. Hoysalas   b. Kakatiyas  c. Rashtrakutas 
d. Yadavas   e. Answer not known 
Gfo;ngw;w Nfh`pD}h; ituk; ahUilaJ? 
a. n`ha;rhsh;fs;  b. fhfjPah;fs;  c. ,uhl;bu$lh;fs; 
d. ahjth;fs;  e. tpil njhpatpy;iy 

 
173. Match the following 

A. Kamappullur inscription  1. Parantaka I 
B. Aniyur inscription   2. Raja Raja I 
C. Ennore inscription   3. Rajendra I 
D. Thirumukkoodal inscription 4. Veera Rajendra  
E. Thiruvotriyur inscription  5. Vikrama Chola 
  A B C D E 
a. 2 3 5 1 4 
b. 4 3 1 2 5 
c. 1 2 3 4 5 
d. 3 5 4 1 2 
e. Answer not known 
nghUj;Jf:  
A. fhkg;Gy;Y}h; fy;ntl;L   1. Kjyhk; guhe;jfd;  
B. mzpA+h; fy;ntl;L    2. Kjyhk; ,uh[ uh[d;  
C. vz;Z}h; fy;ntl;L    3. Kjyhk; ,uhN[e;jpud;  

D. jpUKf;$ly; fy;ntl;L   4. tPuuhN[e;jpud;  
E. jpUnthw;wpA+h; fy;ntl;L   5. tpf;fpuk Nrhod;  
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  A B C D E 
a. 2 3 5 1 4 
b. 4 3 1 2 5 
c. 1 2 3 4 5 
d. 3 5 4 1 2 
e. tpil njhpatpy;iy 
 

174. Match the following 
A. Rajasimha  1. Simhavishnu  
B. Mamalla   2. Mahendravarma I 
C. Chittirakarapuli 3. Narasimhavarman I  
D. Avanisimha  4. Narasimhavarman II  
   A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 4 3 2 1 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf 
A. ,uh[rpk;kd;  1. rpk;ktp~;Z 
B. khky;yd;   2. Kjyhk; kNfe;jputh;kd; 

C. rpj;jpuf;fhug;Gyp  3. Kjyhk; eurpk;kth;kd; 

D. mtdprpk;kd;  4. ,uz;lhk; eurpk;kth;kd; 
   A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 4 3 2 1 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
 

175. During Rajaraja’s reign a revenue survey was undertaken in 1001 AD by a 
revenue officer named  
a. Senathipathi Kuravan  b. Senathipathi Adhityan 
c. Senathipathi Sundaran  d. Senathipathi Kuyavan 
e. Answer not known 
uh[uh[d; fhyj;jpy; fp.gp.1001-,y; thptpjpg;Gf;fhd fzf;nfLg;Gg; gzp 
ahuhy; Nkw;nfhs;sg;gl;lJ? 
a. Nrdhjpgjp Futd;   b. Nrdhjpgjp Mjpj;ad; 
c. Nrdhjpgjp Re;jud;   d. Nrdhjpgjp Fatd; 
e. tpil njhpatpy;iy 
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176. Through which temple’s inscription we come to know that drama was 
divided into two types such as ‘Santhikoothu’ and ‘Vinodhakoothu’? 
a. Tanjore   b. Chidambaram  c. Atthur   
d. Satthur   e. Answer not known 
$j;Jf;fspy; ‘rhe;jpf;$j;J’> ‘tpNdhjf; $j;J’ vd ,Utiff; $j;Jfs; 
,Ue;jd vd;W ve;j Nfhtpy; fy;ntl;L %yk; mwpfpd;Nwhk;? 
a. jQ;rhT+h;   b. rpjk;guk;   c. Mj;J}h; 

d. rhj;J}h;    e. tpil njhpatpy;iy 
 

177. The first term and sixth term of a G.P and 2 and 486 respectively.  The 
sum of its first six terms is  
a. 628  b. 828  c. 728  d. 928  e. Answer not known 
Kjy; cWg;G 2 vdTk; Mwhk; cWg;G 486 vd;wthWk; mike;j ngUf;Fj; 
njlhpd; Kjy; 6 cWg;Gfspd; $Ljy;. 
a. 628  b. 828  c. 728  d. 928          e. tpil njhpatpy;iy 
 

178. Which of the following deals with the history of the rise of the Mughal 
power in India? 
a. Tabakat-i-Nasiri  b. Taj-ul-Ma’asir  c. Tarikh-i-Firozshahi 
d. Tarikh-i-Frishta e. Answer not known 
fPo;f;fz;ltw;Ws; vJ ,e;jpahtpy; Kfyha Ml;rpapd; vOr;rp Fwpj;J 
tpthpf;fpd;wJ? 
a. jgfj;-,-e]php  b. jh[;-cy;-kh-mrph; c. jhhpf;-,-gpNuh~hfp 

d. jhhpf;-,-nghp~;lh e. tpil njhpatpy;iy 
 

179. How many pairs are correctly matched? 
I. Devedana villages - Temples 
II. Pallichandam - Jain institutions 
III. Ulukudi  - Land owners of vellanvagai 
IV. Brahmadeya - Land grants to Brahmins 
a. One pair   b. Two pairs   c. Three pairs  
d. Four pairs  e. Answer not known  
fPo;f;fz;ltw;Ws; rhpahfg; nghUe;jpa ,izfs; vj;jid? 
I. Njtjhd fpuhkq;fs; - Nfhtpy;fs; 
II. gs;spr;re;jk;  - rkz rka epWtdq;fs; 
III. cOFb  - Ntshz;tif epyj;jpd; cilikahsh;fs; 
IV. gpuk;kNjak;  - gpuhkzh;fSf;F jhdkhf toq;fg;gl;l epyq;fs; 
a. Xh; ,iz  b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs; e. tpil njhpatpy;iy 
 

180. In the period of later Cholas, the trade guild Anjuvannattar comprised 
I. East Asians  II. Arabs   III. Jews 
IV. Christians  V. Muslims  
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a. I, II, III   b. II, III, IV, V   c. I, IV, V 
d. All of these  e. Answer not known  
gpw;fhy Nrhoh;fs; fhyj;jpy; mQ;R tz;zj;jhh; vDk; tzpff;FO 
mikg;gpy; ,Ue;jth;fs; 
I. fpof;F Mrpah;fs; II. mNugpah;fs;  III. A+jh;fs; 
IV. fpwpj;jth;fs;  V. ,];yhkpah;fs; 
a. I, II, III   b. II, III, IV, V   c. I, IV, V 
d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

181. How many pairs are correctly matched? 
I. Balban – abolition of the forty nobles 
II. Tughri Khan – provincial Governor of Sind 
III. Iltumish – Establishment of department of spies 
IV. Hulagukhan – Grand son of Chengiz Khan 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs  e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. ghy;gd; - ehw;gjpd;gh; gpuGf;fs; xopf;fg;gLjy; 
II. Jf;hpy;fhd; - rpe;J khfhz MSeh; 
III. ,y;Jkp~; - xw;wh;fs; Jiw epWtg;gLjy; 
IV. FyFfhd; - nrq;fp];fhdpd; Ngud; 
a. Xh; ,iz  b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs; e. tpil njhpatpy;iy 
 

182. Choose the correct statements about Mansabdari system 
I. According to this system the Nobles, civil and military officials 

were combined to form one single service 
II. Mansabdar rank was dependent on Zat and Sawar 
III. Zat was the number of horses and horsemen he had to maintain 
a. I, II  b. I, III c. II, III d. I, II, III e. Answer not known 
kd;rg;jhhp Kiw gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,k;Kiwapd; fPo; gpuGf;fs;> uhZt mjpfhhpfs; Fbikg;gzp 

mjpfhhpfs; MfpNahhpd; gzpfs; xd;W Nrh;f;fg;gl;L xNu gzpahf 
khw;wg;gl;ld 

II. kd;rg;jhh; rhl;> rthh; vDk; ,U tplaq;fisr; rhh;e;jpUe;jd 
III. rhl; vd;gJ xU kd;rg;jhh; guhkhpf;f Ntz;ba Fjpiufs;> 

FjpiutPuh;fspd; vz;zpf;ifiaf; Fwpg;gjhFk;. 
a. I, II  b. I, III c. II, III d. I, II, III e. tpil njhpatpy;iy 
 

183. Choose the correct statements about Dholpur – Karauli Tiger reserve.  
I. 54th Tiger reserve of India 
II. Fifth Tiger reserve of Rajasthan State  
a. I only  b. II only c. Both d. None  e. Answer not known 
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Njhy;G+h; - fnusyp Gypfs; fhg;gfk; gw;wpa rhpahd $w;Wfisj; Njh;T 
nra;f.  
I. ,J ,e;jpahtpd; 54tJ Gypfs; fhg;gfk;  
II. uh[];jhdpd; 5-tJ Gypfs; fhg;gfk;  
a. I kl;Lk;   b. II kl;Lk;     c. ,uz;Lk;   
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

184. Choose the correct statements  
I. India’s first Hydrogen bus started a trial run in Leh.  
II. Tamilnadu’s first honey bee park is setup in Athipattu  
a. I only  b. II only  c. Both  d. None  e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f.  
I. i`l;u[d; vhpnghUspy; ,aq;Fk; ,e;jpahtpd; Kjy; NgUe;J 

Nrhjid Xl;lk; Ny – efhpy; njhlq;fg;gl;lJ.  
II. jkpo;ehl;bd; Kjy; NjdPf;fs; G+q;fh mj;jpg;gl;by; epWtg;gl;Ls;sJ.  
a. I kl;Lk;    b. II kl;Lk;     c. ,uz;Lk;  
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

185. What will come in the place of a question mark? 
 Nfs;tpf; Fwpapl;l ,lj;jpy; tUk; vz; ahJ? 

   
     a. 1  b. 2  c. 3  d. 4  e. Answer not known 
 

186. pazhaimai enappaduvadhu yaadhenin yaadhum 
kizhamaiyaik keezhndhitaa natpu 
In this Kural the term Kizhamai means 
a. thonmai  b. urimai    c. mudhumai  
d. ilamai  e. Answer not known 
goik vdg;gLtJ ahnjdpd; ahJk; 
fpoikiaf; fPo;e;jplh el;G. – vd;w Fwspy; cs;s 'fpoik' vd;w 
nrhy;ypd; nghUs; ahJ?  
a. njhd;ik  b. chpik    c. KJik   
d. ,sik  e. tpil njhpatpy;iy 

 
187. Match the following  

gFjp I    gFjp II  
A. nfOjifik   1. willing 
B. ,Of;fk;   2. fault 
C. tpioT    3. foe 
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D. tpioahh;   4. right 
 A B C D 
a. 3 1 2 4  
b.  3 2 4 1  
c. 4 2 1 3  
d. 3 4 1 2  
e. Answer not known 
nghUj;Jf:  
gFjp I    gFjp II  
A. nfOjifik   1. tpUg;gk;  

B. ,Of;fk;   2. gpio 

C. tpioT    3. gifth;  
D. tpioahh;   4. chpik  

 A B C D 
a. 3 1 2 4  
b.  3 2 4 1  
c. 4 2 1 3  
d. 3 4 1 2  
e. tpil njhpatpy;iy 
 

188. Choose the correct statement regarding land revenue administration of 
Mughals 
I. Land revenue administration was toned up during the reign of 

Akbar 
II. Raja Mansingh, Revenue Minister of Akbar, adopted and refined 

the system introduced by Shershah 
a. I only   b. II only    c. Both I and II 
d. None of these  e. Answer not known 
Kfyhah;fspd; epytUtha; eph;thfk; gw;wpa rhpahd $w;Wfisj; Njh;T 
nra;f 
I. mf;ghpd; Ml;rpapd; NghJ epytUtha; eph;thfk; rPuikf;fg;gl;lJ 
II. mf;ghpd; tUtha;j;Jiw mikr;ruhd uh[hkhd; rpq; n~h;~h 

mwpKfk; nra;j Kiwiag; gpd;gw;wpdhh;. mk;Kiwia NkYk; rPh; 
nra;jhh; 

a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

189. Choose the correct statements about Jagirdar system 
I. Under the system, the collection of the revenue of an area and the 

power of governing were bestowed upon a military or civil official 
named jagirdar 

II. Every Mansabdar was a jagirdar if he was not paid in cash 
III. The Jagirdar collected the revenue through his own officials 
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a. I, II  b. I, III c. II, III d. I, II, III e. Answer not known 
[hfPh;jhh; Kiw gw;wpa rhpahd $w;Wfisj; Njh;T nra;f 
I. ,k;Kiwapd; fPo; Fwpg;gpl;l xU gFjpapy; epythp t#y; nra;Ak; 

nghWg;Gk; mg;gFjpia eph;tfpf;Fk; nghWg;Gk; ,uhZt my;yJ 
rptpy; mjpfhhp xg;gilf;fg;gl;lJ ,tNu [hfPh;jhh; Mth; 

II. jq;fsJ Cjpaj;ijg; gzkhf ngwhj xt;nthU kd;rg;jhUk; 
[hfPh;jhh; Mthh; 

III. [hfPh;jhh; jk; mjpfhhpfs; %yk; epythpia t#y; nra;jhh; 
a. I, II  b. I, III c. II, III d. I, II, III e. tpil njhpatpy;iy 

 
190. Which of the following were common to both Buddhism and Jainism? 

1. Avoidance of extremities of penance and enjoyment 
2. Indifferent to the authority of the Vedas 
3. Denial of efficacy of rituals 
4. Non injury to animal life 
Select the correct answer using the codes given below: 
a. 1, 2, 3 and 4  b. 2, 3 and 4   c. 1, 3 and 4   
d. 1 and 2   e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j Fwpg;Gfs; Gj;j kjj;jpw;Fk; rkz rkaj;jpw;Fk; 
nghJthdjhf fUjg;gLfpwJ? 
1. gpuharpj;jk; NjLjy; kw;Wk; RfNghfq;fis mDgtpf;fhky; Kw;wpYkhf 
xJf;Fjy;. 
2. Ntjfhy mjpfhuth;f;fj;NjhL mbgzpa kWj;jy;. 
3. Nts;tpapdhy; gad; vd;w nfhs;ifia kWj;jy; 
4. tdtpyq;Ffis Jd;GWj;jhky; ,Uj;jy; 
fPo;f;fz;l Fwpg;gpd; JizNahL rhpahd gjpiy jUf. 
a. 1> 2> 3 kw;Wk; 4  b. 2> 3 kw;Wk; 4  c. 1> 3 kw;Wk; 4  
d. 1 kw;Wk; 2  e. tpil njhpatpy;iy 
 

191. Raju starts walking towards south. After walking 20 m he turns towards 
North and Walks 8 m. Again he turns towards East and walks 5 m. How 
far and in which direction is he from his starting point. 

 a. 15 m, South         b. 17 m, North-West  c. 7 m, East                         
d. 13 m, South-East  e. Answer not known 
uh[_ vd;gth; njw;F Nehf;fp elf;fj; njhlq;Ffpwhh;. 20kP J}uk; ele;j 
mth; tlf;F Nehf;fp jpUk;gp 8 kP J}uk; elf;fpwhh;. kWgbAk; fpof;F 
Nehf;fp jpUk;gp 5 kP J}uk; elf;fpwhh; vdpy;> Muk;g ,lj;jpypUe;J vt;tsT 
J}uk; ve;jj; jpirapy; mth; ,Ug;ghh;?  
a. 15m, njw;F  b. 17m, tlfpof;F   c. 7m, fpof;F 
d. 13m, njd;fpof;F e. tpil njhpatpy;iy  
 

192. Consider the following 
Assertion (A): Asoka annexed Kalinga to the Mauryan Empire. 
Reason (R):  Kalinga controlled the land and sea routes to North 

     India. 
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a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation 
of ‘A’. 

b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct 
explanation of ‘A’. 

c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): mNrhfh; fypq;f ehl;il nkshpag; NguuRld; ,izj;jhh;. 
fhuzk; (R): tl,e;jpahtpw;F nry;Yk; fly; kw;Wk; epy khh;f;fj;ij 
fypq;fh jd; fl;Lg;ghl;by; itj;jpUe;jJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 
 

193. Consider the following: 
1. Tughlaqabad fort   2. Lodi Garden  
3. Qutub Minar    4. Fatehpur Sikri 
The correct chronological order in which they were built is 
a. 3, 1, 4, 2   b. 3, 1, 2, 4    c. 1, 3, 2, 4 
d. 1, 3, 4, 2   e. Answer not known 
fPo;f;fz;ltw;iw rhpahd fhythpirg;gb vOjTk;. 
1. Jf;sfhghj; Nfhl;il 2. Nyhb Njhl;lk;  
3. FJg;kpdhh;   4. gNjG+h; rpf;hp 
a. 3, 1, 4, 2   b. 3, 1, 2, 4    c. 1, 3, 2, 4  
d. 1, 3, 4, 2   e. tpil njhpatpy;iy 

 
194. What will come in the place of a question mark? 
 Nfs;tpf; Fwpapl;l ,lj;jpy; tUk; vz; ahJ? 
 

 
 
a. 937    b. 824   c. 769 d. 678  e. Answer not known 
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195. Consider the followings statements. 
Assertion (A): Saluva Narasimha put an end to the old dynasty and 
    assumed the royal title. 
Reason (R):  He wanted to save the kingdom from further 
    degeneration and disintegration. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation 

of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct 

explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): rhSt eurpk;kd; gioa tk;rj;jpd; Ml;rpf;F Kw;WGs;sp 
itj;J jhd; cah;e;j nghWg;ig Vw;Wf;nfhz;lhh;. 
fhuzk; (R): jd;Dila Ml;rp NkYk; rpjwhky;> gphpe;Jtplhky; ghJfhf;f 
tpUk;gpdhh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 
e. tpil njhpatpy;iy 

 
196. Which one of the following incriptions of Asoka refers to the grant of 

concession in land revenue to a village? 
a. Lumbini pillar edict b. Saranath pillar edict c. Girnar rock edict 
d. Sanchi pillar edict e. Answer not known 
mNrhfupd; gpd;tUk; ve;j Miz> xU fpuhkj;jpw;F epy tUthapy; rYif 
toq;Ftijf; Fwpf;fpwJ? 
a. Yk;gpdp J}z; Miz b. ruehj; J}z; Miz  c. fpu;dhu; ghiw Miz  

d. rhQ;rp J}z; Miz e. tpilnjupatpy;iy 
 

197. James Princep took clues to decipher Asoka,s incriptions from bilingual 
records involving: 
a. Brahmi and Aramaic  b. Brahmi and Cuneiform 
c. Brahmi and Greek  d. Brahmi and Hieroglyphics  
e. Answer not known 
N[k;]; gpupd;nrg; mNrhfhtpd; fy;ntl;Lfis ,Unkhopg; gjpTfspy; 
,Ue;J Gupe;J nfhs;s ve;j jlaq;fis vLj;Jf; nfhz;lhu;: 
a. gpuhkp kw;Wk; muhkpf;   b. gpuhkp kw;Wk; fpA+dp/ghu;k;   
c. gpuhkp kw;Wk; fpNuf;fk;  d. gpuhkp kw;Wk; i`Nuhfpsp/gpf;];  
e. tpilnjupatpy;iy 
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198. With which of the following regions did India have the closest contact 

during the Gupta period? 
a. South –East Asia b. Central Asia   c. Iran   
d. Western Asia  e. Answer not known 
Fg;ju; fhyj;jpy; gpd;tUk; ve;jg; gFjpAld; ,e;jpah neUf;fkhd njhlu;G 
nfhz;bUe;jJ?  
a. njd;fpof;F Mrpah b. kj;jpa Mrpah    c. <uhd;   

d. Nkw;F Mrpah  e. tpilnjupatpy;iy 
 

199. The medium of exchange prevalent during the Mauryan period was: 
a. Kapaddaka-purana b. Churni    c. Pana  
d. Dinara   e. Answer not known 
nksupau; fhyj;jpy; epytpa gupkhw;w Clfk;: 
a. fghlf-Guhzk;   b. Ru;dp     c. gdh   
d. jpduh       e. tpilnjupatpy;iy 
 

200. The radius of a spherical balloon increases from 7 cm to 14 cm as air is 
being pumped into it. Find the ratio of volumes of the balloon in the two 
cases.  
a. 1 : 2  b. 1 : 4  c. 1 : 8  d. 7 : 14  e. Answer not known 
7 nr.kP Muk; nfhz;l Nfhs tbt gY}dpy; fhw;W nrYj;jg;gLk; NghJ 
mjd; Muk; 14 nr.kP Mf mjpfhpj;jhy;> mt;tpU epiyfspy; gY}dpd; fd 
msTfspd; tpfpjj;ijf; fhz;f.  
a. 1 : 2  b. 1 : 4  c. 1 : 8  d. 7 : 14  e. tpil njhpatpy;iy  
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